Question Booklet No.

Question Booklet Code SLRC_ 2 02 2

D Paper : I

Roll No.

Time Allowed : 10:00 a.m. to 12:00 noon (2 Hours) Maximum Marks : 135

Before filling the OMR Answer-Sheet, the candidate must ensure that all the pages from 1-96 are printed
correctly in the Question Booklet. In case of any discrepancy, immediately replace your Question Booklet.

INSTRUCTIONS

Do not open the Question Booklet before 09:55 a.m. in the Examination Hall.

Read the question carefully before marking the right answer in the appropriate circle of
the OMR Answer-Sheet.

No candidate will be allowed to enter or leave the Examination Hall during the examination hours.

Any candidate found using unfair means in the examination halls/rooms shall be
disqualified.

Candidate should clearly write his/her Roll No. in the space provided in the Question
Booklet in case of using Non-Standard OMR Answer-Sheet.

Candidates will have to sign twice. Once in the Attendance/Roll Sheet presented by the
Invigilator on duty after taking their seats in the Examination Hall, and the other, at the
time of handing over their Question Booklet and OMR Answer-Sheet to the Invigilator after
the completion of the Examination. Cases where a candidate has not signed while submitting
the OMR Answer sheet and the Question Booklet, he/she shall be treated as absent.

Candidate should do all the necessary Rough Work on the Question Booklet in the space
provided. Rough Work should not be done on the OMR Answer-Sheet or on any other paper.
If any Rough Work is done on the OMR Answer-Sheet, the OMR Answer-Sheet will not be
assessed.

There will be one single OMR Answer-Sheet for all the questions. No extra OMR
Answer-Sheet will be provided for any mistake or correction.

The OMR Answer-Sheet will be provided along with the Question Booklet. Candidate should
fill up the particulars in the OMR Answer-Sheet, i.e., Question Booklet No., Question
Booklet Code, etc., carefully with blue/black ball-point pen only.

The Examination is of 2 hours duration and will consist of 135 questions of 1 mark against each
question.

There is no negative marking for any wrong answer.

Candidate should note that each question is given in multilingual form, viz., in Assamese/
Bengali/Bodo/Hindi/English medium/version for his/her convenience and ready reference.
In case of any discrepancy or confusion in the medium /version, the English version will be
treated as the authentic version.

Very Important :

The candidate should make sure that the corresponding Question Booklet Code is
properly written/shaded in the OMR Answer-Sheet by him/her. For example, if the
candidate gets Question Booklet Code ‘D’, then he/she should fill up ‘D’ in the box
provided in the OMR Answer-Sheet and also shade the circle ‘D’ in the OMR Answer-
Sheet. In case of any discrepancy in the Question Booklet, the candidate should
immediately report the matter to the Invigilator for replacement.

The candidate has to return the Question Booklet along with the OMR Answer-Sheet to
the Invigilator before leaving the Examination Hall failing which he/she will be
considered absent.
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BERIRE

51 09:55 JHIT HITS LHPITOI e |

OMR €3 “Iq9 IYR JEWU® Wa Te05! e 917 S9TS &miht AR I 76T |

o S5 BfeT 4| TS (@I AT 29 T fToqo 2@ T{! /] T @Y IR
oS i 7R |

o It T SRR SPIR SoR ST I @#1TS Ty T4 A9 fREpTR Teewt 707,
(S8 (SEF TS Jfol [REI0A1 F1 27 |

® Non-Standard OMR I@T® 2(F “_FFIAE Fo@ @ 791 euFiFed Mg sz =B
Tt =far |

o HITRCE WA Ml SHFES /@ET *a© YAR FHa P AR, 2I_IT (DS 217w
FHS P A2 FAIF TS IF TSI OMR TG IF eI Fwes ol
RIS SIS | GRICT! 2[RI oS /e “Iqe fasia 3 JAFe 1903, (SR & (SSTEF
s 31 4f9 @RI Ea |

o A FNT AFEN (9 LAWEAT B4l (rough) FW eXFIFoS i@l sizeE F 1 |
AN 461 (rough) FI TG A1 Al B (FIC! 476 FloIErs I R | T 7o I
@2 Y541 (rough) PN *HIFE T, (SRS T (S0 T&H #[@q Jeie 341 7929 |

o T 2T AT AHIF @ Vg OMR T&T a2 ¥l 27 | G 20 I WF IRIA
SreRE @I $eq oiq il 72’7 |

® ENIFOT TS ¥ OMR Teq ~Ig il 27 | *[=Ifw ¢z 8 OMR Ted 7o
ERJFCT T, LFTOT T, 2G| ARG @ ATl /F 2N -5 I 7 PR
R |

o [SFPIT TR 2 T AT eHFFoe 135 T o T HF ATTRG! TF AW 1 TS
2 |

o & TG AT (PITA! WM 77 AT |

® IFAIRIR © TR I A FINET OMR TG 2[q® &l /F 3l &1-936 (02 T2
A AN |

o “RrFIFI (OSTEIR ARA To M @ erTire erpRR RO 279, @ PN,
ST, 0T, oM ST RAE! | @2 CFgS ARG A TRFIS @I 4701 s 1 3K
(oIS SRR 2o 3R TRFREDBIR2. 2T Wi Jfe1 9o A |

Important Instruction :

o T faPoe 2l Ttw TTe eFITS $'T TGB! OMR Tes g S 5iz® forat 27 |
TR, AR 4= 9 LAFIFOI T <D’ QfFe OMR TEF #44q s diZ® D’
foriRa wnfor =tie e 3@ ‘D Tt a1t $fa7 AR | erpies et s e s
TR TGP G IF ARHToL Feie A 37 |

o I T GJil FIT WICS 2N FHFT oS OMR TEGF [ FNCS LRFIFOIE
ol v AR | SepRt sfRiEem SpritEs 3 Rt 27 |

[
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et

Pl 09:55 B TS a’ &= 1l |

OMR &3 “taq 3L Jebre W Texlh e TR +[tf erifh R 1o 7o |

o P HoTCe APl SR @I AT <A oA Food @ [l K T (=S ARE
ST SRS (TS =T A |

o i (FI I SPIR TAR SqETT I A TAE SEmd T AW FRPTR oo I,
@ I S0 A0 Ko 91 23 |

® T ST OMR @7 “[(ad &) IS e (@ w91 els#itad Wiie 2 =8 3
for® 207 |

o FrFiaE IR e ToIRERs /@I #Ita YAIF FHFA 0o 2, AR Od 2100
FCF P 2429 FAF T R ORI OMR T@d7[@ @3k 2#afb s ol (e
TR | I IR Toifels /@iel #ita A SRR F 1l I, IR0 OIS SlES qE
/e[y T 204 |

o SIS AT G ARG T (rough) TS %08 (ST BT FACS ARE | 2wl
TG (rough) IS TG 1 T (FIF R FI9E FICS AR 1 | AW 27wt @3 270!
(rough) FT& TEIICq FCA, OCF G2 TELIGH TeNR Pl 204 1 |

® 7T TR & AT ¢Fh g OMR Tea7@ e X | G T A WF TR &
SRR (e Teaig (e I A |

® &vItad M b OMR Tea7iq (eq B | *[IIFIE (12 U8 OMR TeReIta ei%tas
T, ePEITR (T TSI AR WY 131 /I IT-A@S o =T 5] FH00 2 |

® [P TR 2 TGB! ¥R &g 135 5 & AFE «R 2TSF T Ty 1 799 07 i
R |

® o TG T (I YO 7 AP A |

® 5% O (FTF G A OMR TGIGT 1161 /FICE I - @B (7] 2T FACS 2(A |

o AN ST R T TS 2@ @ 2R e GEN ITSIRE 2[ | @- SPIaRl,
e, AT, TR @R TG | @3 CRG TGN ORI (I LIPS T (@0
P B0 BRG] SHANDE LIPS W 03 91T FHCH |

Important Instruction :

o *ArHTy Rce 2ex BT ATS eRetad IS THAG OMR Sed7itad e 2w @4t = |
TriizgerE, AR ST eroltad (IS ‘D’ AFE OMR $6390a7 R =2 D’ forits 23
R B 38 D’ T I T700 2@ | 2RIt (I SPTES GEE SRR ek Rl
TR0 R GR 2E#IAD I FACS T |

o ! T Is TR “tf A (NAFCPT TS OMR T@geitas Aozt @ryeiafG e fires
T | & = e SR S I Rt 2@ |

=51
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%1 09:55 famfx Rt sresef Wi frersEt s@aTe |

T ANTYHATE TS Tt gt T Trete St @ EE A |

® 3IFITE T UHR U Taal [SHRERE 3G ST G T TET SIS @ TR
BT ST ST |

o Ife Aian fommremmn mia war @R wan MmN T e AuerEt fawrEn, fegmet 3R gee
TR ST |

e Jfc Non-Standard OMR Sheet STEEAT ST, fSA@@ET@T MEaT-Maf HIR TR (Roll
No.) S ferems &1 Srrmme T fort 9 |

o formEETERT ARfCHTET BH™ TATAT™ /IR faarsame e gars e 9, fifaame See
T 3riTe @umRTe Wil dEE JEE A AR @ae g e 3T OMR e faersat
TREATET ST S TuTa | SReT AR JenferT /B feersare A wsh amaw 3 gaTs
WA 3T&AT TSI ST BT AT €T €51 SH1E ST |

o fsrrEmn Maft MaE Y@M THT ST rough FERE GiFME faagaad @l g |
feA=@™T rough TEE! TR foeTsaE T oA TEWH @RS SEREl gFE T8 |
foemgama IfE & rough FTETE! WIEH! 376eT T foaTsE! Y™ Q™ STH™ FT |

o TTHE FHEMA U™ e THe” OMR A= faems A wrme | mRf Seen 19
o st st T fererte @ s = |

o T faags @rmE TH OMR ™ faars gm@ sme | femmamn & &1 OMR
ATATE AT - : TR foers =m0 d@m foemst &', et w's smfe safest
e el TS T S-St ot e |

® IHIEH THT 2 U= IR AHM fSetgard W9 135 HifY YA 3T WFhHE! JiAEE-l e
ot emEm 1 T Ui |

o I fFrafy ara™ Sel g’ R 19 |

o foAERT OMR T foretrsama @fet fier TRl W Seu-siEl et Qi@ 317 Qe
AT |

o 31rare B fift gleenty e marme arfgamn @it @ faemst ey gimer me
Taie SIrTH, SR 3rEHiE, s7ar, U, &< AR 3Ui | o ST Jres sl T BiEeEE s -
51 TET GRS TSI ST SUSTE BIATeHRG@ T H1s BT S5 1 A0 |

Important Instruction :

o foAmrramrn e wHrEn wiwife g e % 'sEt OMR e faemsf for sermeme o
T g A | fafefr anfed femreramen wiemm wiem e %'e <D @t feam faemef &
R G e &'er ‘D’ oAt Arna ot for st e e A |

® 3THSE WATE! ARTAE farm fsAreamn Amfemfy smamma OMR A faemgst ema
i feeTgEian ST gl ARTH | TSTee1 STHWIE gt Tamned fFems THemmE S |

[
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frdm

uTd: 09:55 &t | Yd Y9 Y 7 @i |

OMR STR-U= & 3IUFe I | Jg I fga o € gg a4t T3 AaHiges U |

o vilieT Tord T foeft wiemeff i wdian wam o wiat yET 1o wier e Bidt S i 1A
Tl < St |

o fe I ghiemeff Torq qlent 3TUTT B A1 W IfectRad FEHt 1 oot T 7, 91 39 3™
U T SR |

® Non-Standard OMR 3W-93 % 391 7q eqefl 379a1 Tet =, I gfedent # fou M0 v w
wog 9 4 ford |

o uhianefi @i frfteres g feu o 3ufefa /Ae 3fic W & IR SR T TR, TEeh 9 e o &
¢ 3R g IR WA gf&qeht 3T OMR IT-94 f{iee i Hiad o &G | 3R foreft aliemelf 4
Iufefa /Ue sffe W e gedter T foharm, @t 3| wdienefi s srufeer awen s |

o wiiemeff Tt TE *1 FTEH W (rough) HH T fEaehT § feU MU T 9T weh | wdieeff W
(rough) T IT-9 A7 31 Forell T8 & HITe W & HLFh | I qhienel ST-u9 WHE W
(rough) T AT 2, A T IT-T T JoATeh a1 a1 T |

o Tt Uyt o foru udiemedi ot shae Uk OMR STR-UH €t oo S | Tetdt §H R 91 Ig & &
for whtg riiter ser—v=t & fean wmem |

® ¥ If&ieht < T1Y T OMR IW-v3 fean smom | wieneff 39 fifdse OMR IW-93 # ¥
GfEent ., T GFETehT T I 3T HTHT 1 IS ST Torewor FraeTi & shadt el 31 el sicl-
Ui5e U | W |

® Ui ST FHA 2 FUS BTN 3T ¥ GfTehl § 135 T &1 3TR Tedish I o foTw 1 376 i |

® T 3T o foTU whig TehRIceh 3k =1 gnm |

o TR 1 38 T8 T 3R OMR IT-T9 W hael el AT HIAT Sid-Tige 94 § |t FIAC
AT B

o wiieneff 79t glaen o foe e T T T gfcaent w1 Tl Sve Sg-wTfves 8T, S — ST,
e, srel, fawdt 37t 3Tt | 30 ey o wren o weehtor 8 foneft wehr 61 7fe o wmem § srgfaen
B W 37ST IS i & HE W S |

Important Instruction :

o uiignedi 7z gHivaa o & foh 39k g1 W9 YRert &1 g OMR SW-UF § && &1 ¥
T /ST TR T @ | SeTeuRaEy, e udenef fi wva gfere @t @i ‘D’ @, @ OMR
IW-U= | hig ‘D’ fera 2nm 3R 9= D’ =Rl Hien A1 2w | afe uvA yfeent § 8w =
30 e 9 HE femfa fore, A gema wdten Trfierss @ o wva gt agem % |

o Tlten WA BieH ¥ Uget udiendt i Fiersh o 4 OMR STR-US & WY U9 Yieaent ot s
ST BN | ST 3¢ STJUREd o w9 | THel S |

=51
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1994 3% BIFI ETT *14MS - ®ITE02 616 FIF wie 41 C2feeT ?

(A) AR e B) .9 G-

(C) . fFae @@t D) oS 3. @2
1994 N TR ER RSIts! (& AW MO <TRIE 7S ZRRE 2
(A) SHR™ (RS B) .97. o™

(C) . fezel @ (D) 8 o, @2

3. 1994 WA 319 TR ! TETH A1RT ATGISTE T HEd S 8HE JGHH ?
(A) 3Tfer< ShaiaTe (B) .U, A

(C) =i forr st (D) T €. 2og@
Tor=g Tt Tam b1 Avft § 1994 H T AEE TRhR | TT( foham mm o 2
(A) g Fedar (B) &.w. A=

(C) . fortor ot (D) foama €. @

Who was awarded the Ramon Magsaysay Award in 1994 in the category of
Government Service ?

(A) Arvind Kejriwal (B) T.N. Seshan

(C) Dr. Kiran Bedi (D) Chintaman D. Deshmukh

ffeT_e 1372q (P! ©ieq 22N Fla Traz ?

A) ©= (B) i

(C) ST (D) 2T=0 - 1A

e Sarfire (MG SIRres 22w Fiaw Teiag ?

(A) o= (B) i

(C) wirfeg (D) 2= - 1A

e S99 Yiat fifafim gmm o= ¢

(A)  WTERT (B) Ufeeft

(C) Fmivg (D) 39— 3BT, (INSAT — IA)
frferfiad § & 9 WKa 1 gel Hw 3umE o1 ?

(A)  HIERL (B) Ufguft

(C) 3w (D) 3¢ — 3ME.T. (INSAT — IA)
Which of the following was the first artificial satellite of India ?

(A) Bhaskara (B) Rohini

(C) Aryabhatta (D) INSAT -IA

LI 0]
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3. [eferie sy (HICH! (et w12y ?

NIRED| (B) ™
(©) wfe (D) TPlTet
3. ey Sealre @i (Tt sl w7 ?
NIRED (B) ™
(C) S (D) s
3. TIEMTE BFREI SeE et T ?
@) fa (B) W@
(C) 3smnfea (D) &1 (Quartz)
3. FAfifgada st aa TR g ?
@) f& (B) W
(©) FHREEH (D) =St
3.  Which of the following is NOT an element ?
(A) Tin (B) Mercury
(C) Todine (D) Quartz

4. RS FICPHRT (SIS & TS 72T ?

A) T (B) 7GR

©) T Gz (D) TG
4. 90 SEiie FoigER T @GRbre 39 7% 2 1 2

@A) T (B) =1 Gfm

(C) B G (D) TG
4. TERM 99 T3 S (ball) STERAET ST ?

(A) T (B) &t af®

(C) a9 df= (D) Ssf==
4. Tafafea @ @ +iF o1 @ Tig &1 ST T8 Har g ?

(A) e (B) w1t

(C) 3= ™ (D) Ssftea
SLRC-2022/P-I/D 7 % P.T.O.



Which one of the following sports does not use a ball ?

(A) Golf
(C) Table Tennis

(B) Lawn Tennis

(D) Badminton

eifeqmE@ @ W29 8 SRy FHfIe @Gt e #iiet %11 23 2

(A) e ot
(C) ¥ fr

(B) s Wi et
(D) [WOFT 9% FCEHD 7T

foC Seatiroma o (FHIG &lfio I8 8 T Sraisia a1 =7 ?

A) I o=t
(C) ¥ for

(B) SN Rid e
D) TC T R @ FOT W

MBI T SEChHAS! TS § HH 8 SFe@Tied BT S 7

(A)  ITTEETeT 9
(C) HEEHI "H

(B) UG BEAHR qH
(D) I AN (& fshdia g

g da s o fcaa A S EE R TR ST 8 2

(A)  vFTerr feag
(©) worg feam

(B) T fuy feaw
(D) YeohiE 3 e fortie feam

Which of the following is celebrated on May 8 every year ?

(A) Environment Day
(C) Labour Day

(B) No Tobacco Day
(D) Red Cross and Red Crescent Day

TEE @ B (I 512 ST ?
(A) M

(C) ==

W Al GO (IR SRS ?
(A) I@m

(C) =AM

g Ot Rfesm s aRT g 7

A) wEler

(C) @

SLRC-2022/P-I/D

(B) Al
(D) SrREWEm

(B) M
(D) HGmRm

(B) H@
(D) 3TgHelETe
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g O =igam Hfeae |

A) wErer (B) ¥

(C) wewmm (D) 3TEHeTSTE

Narendra Modi Stadium is situated in

(A) Baroda (B) Surat

(C) Mehsana (D) Ahmedabad

MPLAD S5e LAD 3 575 (051 (2% :

(A) Local Asset Development (B) Local Area Development

(C) Leading Asset Development (D)
MPLAD *f&%Ite LAD JeCs I @RIF ?

(A) Local Asset Development (B)
(C) Leading Asset Development (D)
MPLAD w@¥ifig 37 LAD 1 ATl BRARI 7

(A) Local Asset Development (B)

(C) Leading Asset Development (D)
MPLAD 3151 # LAD 1 &1 312 & ?

(A) Local Asset Development (B)
(C) Leading Asset Development (D)

Local Area Distribution

Local Area Development

Local Area Distribution

Local Area Development

Local Area Distribution

Local Area Development

Local Area Distribution

What does LAD stand for in MPLAD Scheme ?

Local Area Development

Local Area Distribution

(A) Local Asset Development B)

(C) Leading Asset Development (D)

e G faEe @ oi2s w@fEs 2

A) oo B

©) TH=R (D)
SLRC-2022/P-I/D 9
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8. TeEIial GEIRER e=Es S ;
Q) TEdS! (B) e frrant
© TR (D) T
8. faerifen amifeisn s=18 2
(A) hIeTehIdT (B) e feeett
©) 7= (D) et
8. fowdfenamfaer  dfem?
(A) IR B) = oot
©) T (D) et
8. The Victoria memorial is situated in
(A) Kolkata (B) New Delhi
(C) Mumbai (D) Bhopal
9. T2 W0T (FARY (Yo S &2 I 2
A TG s (B) =R TE AW
(C) Pz, ob foem D) &=
9. TTU SIS I =TS 231 i S<eleiRe et ?
A TGor &
(B) & vew (T
(C) =3l 70 (1T
(D) 3i-foe dre
9. Tomt e@3n w9 I AW Eieg Ty 3719 STEF = 7
A) foue s (B) < femdm
(C) form, wd feedg = (D) &SeH
9. femn o fora ¢ 3t Fieg wied & wm ot 8 2
&) feuersm (B) wisft gl i gre
(©) wg-e, HA gl (D) =S|
SLRC-2022/P-I/D 10 %



9. In which track and field sports does Hima Das participate ?
(A) Triple Jump (B) Long distance run
(C) Sprints, Short distance (D) Hurdles

10. fomE, 2021 TS “IPI e 6! (@ [P Je 2mie F41 (2wt ?

(A) GitomTI GRS (B) ¥o+ Gibl
(C) <o [N (D) eI n
10. O™ 2021 9 “SPH (@91 FRIE (F SRS 2R ?
(A) TETom=I GRS (B) % it
(C) o [N (D) e v
10. 3. 2021 HTEYUR feRmsR g3 STEM SYa STUTE! TS g1 JR) ?
(A) T 1o M (B) @ T
(C) T foramm (D) 3T <@
10. femwar 2021 # “3r&m dwa” & fopdt wwia femerm i o 2
(A)  Forelg 1 e (B) T@H @
(C) T forem (D) AT T
10. Who was awarded the “Assam Baibhav” award in December, 2021 ?
(A) Jitendra Nath Goswami (B) Ratan Tata
(C) Ratan Thiam (D) Amalprava Das

11. “etos [@IE 93 WE ST [ReSoqdl efsfa i e smidfeeg Taus! &ie

ISpIRfRe ?
(A) WEGIR Fferm (B) TP @Y
(C) B wiZEIF S5 (D) «oRIb Sz
11. “efsl fmm @36 e 3 Redre afsfa s’ — midkmR 2 @t & Soree
FCARCE ?
(A) WGRE R (B) W2 FACY
(C) MIF 2GR +1CH (D) =G SAZPHIE

LI 0]
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11. “HFHHe U™ T AW 3 fhasnem €7 — gfomm sare fafiemfs faanfrat ar

fegai 7
(A) SISITE Shehfer (B) mgshet g
(C) & 3t Ry (D) 3T ST
11. Terg wifaeht o6 frem ot | T fob g fokan <t w3 faradia wfafskan gt 27 2
(A) ST Shepfor (B) TEHd FTS
(C) ®T Mg YA (D) 3o TR

11. Who put forward the law of physics that “Every action has an equal and
opposite reaction” ?

(A) Benjamin Franklin (B) Michael Faraday
(C) Sir Isaac Newton (D) Albert Einstein

12. &I IS 52T 4o 17 5 2

A) TR (B) 2R3
(C) il (D) <&
12. TemREm areia ==ia 99 1 2
A AR (B) WM
(C) PRI (D) &
12. fsmarsafs aeramaf ggsnar ¢
(A) s (B) &R
(C) s (D) @A
12. fomamsa i oo e R R 2
(A) (B) &N
(C) wFU (D) @
12. What is the capital city of Zimbabwe ?
(A) Nairobi (B) Harare
(C) Cairo (D) Khartoum
SLRC-2022/P-/D 12 %



13. &M 9P AT TS S FIo! T 217 91 27 ?
(A) (oo 3541 (B) wIfer=l <0<l (=)
(C) famrwm (D) 3t anfaw 3=t
13. Sl &AM ST “She<ed Fol et Sraisi= a1 =3 2
(A)  TSICar= el (B) Il 7Rl (GIeRel)
(C) fexiwm (D) = Cartfaw e
13. OR ggF IRmEEEe JEME ARt o @9’ (Abhiruchi Sports Day) %
SR ?
(A) WIS 83T (B) WHATIcTET F&31 (Hadr)
(C) femem (D) e Mfsr swaT
13. 31Em 1 Al W feaw fhaes Safe o mmn Sirar & 2
(A)  HIITeR sTee (B) wforEn srwat ()
(C) Tz (D) T Tiferg s
13. On whose birthday is Abhiruchi Sports Day celebrated in Assam ?
(A) Bhogeswar Baruah (B) Monalisa Baruah (Mehta)
(C) Hima Das (D) Radha Govinda Baruah
14. RS PITCET 2 SPT S STel[beT 712313 AR ?
@A) feas (B) <=zl
(C) T (D) @R
14. 0 SRS FMQTEIR & @0 ST SREoba] SR M0 T3E IEAR ?
A e (B) ferzld
(C) fergm (D) @D
14. TTET S& SRATRT SATETRE TR TSt SR ?
A) feus (B) wefiEre
(C) femm (D) SiERe
14. f=fcRad 4 & 1 91 UM 3750 1 TR T3 ¥ el & ?
A) feue (B) SfREre
(C) femr (D) SiR@ETe

[LIedLl}
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14. Which one of the following places connect Assam with Arunachal Pradesh ?
(A) Dirak (B) Baxirhat
(C) Dimapur (D) Jorhat
15. 2 fofee oS (ICS) 9o Tal (2l SPe &2 SR e (i e ?
(A) SR TR (B) e el
(C) T=bm 34! (D) el &P Tl
15. PN (/TS (I Ay @12y Bz Fifest & (w2, 51.971.) #1981 Telf gt ?
(&) S AR (B) ST AT 33
(C) T=vm I (D) RSl epim T=eal
15. ‘sfem fafaa wnfda’ (ICS) smsTe@ 3iema gmm smamfs firfafem geft gem o 2
(A) SITEERT AHYE (B) 3T U9 §%3T0
(C) =5 woAl (D) TSIl TG ST
15. R fafeas Sar (ICS) we 9/ s STt 3761 o Ugel Stk i o ?
(A) SITE=ERT AHYE (B) 3= TH &l
(C) @merg e (D) Telclt ST el
15. Who was the first person from Assam to clear the Indian Civil Service (ICS)
Examination ?
(A) Jamchonga Nampui (B) Anundoram Barooah
(C) Hem Chandra Baruah (D) Parvati Prasad Boruah
16. FFEMIY QORI FRO] S W ST () 2N TS LIS C2feeT ?
@) A (B) SRR
(C) TEafa D) TEEIR
16. STHIMIY QORI A0S S @I SRR o7 SRS @2y @~ empife 2t :
@) A (B) ST
©) TR (D) TSI
16. SAEHHIYT SAFEHATH “31 TR IMYAR ¢ G2 Fiferima S8 SEeas=md= ?
(A) T (B) AR
(C) Sirfats (D) TR
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16. TAEHITY SSTa%a shi Shicar “3T1 A SR ¢ Tgel! IR Jeh1iard g5 off
(A) wrEH (B) 3G
(C) <Hfsd o (D) AR H
16. Laxminath Bezbaruah’s poem “O’ Mor Apunar Desh” was first published in
(A) Bahi (B) Orunodoi
(C) Jonbiri (D) dJonaki
17. TI%P (PITe (P9 Il 52 ?
(A) W it (B) ferferiizs
(C) eIl (D) 2RI
17, TRFP I GO Arereiall =12q ?
(A) W i (B) ferfereiizs
(C) el (D) AT
17. 3T 6 e TSUEH ?
(A) et i (B) Thefiio=s
(C) M3 (D) oT$ATg
17. Shich ToTerfl TEX & —
(A)  gferor eIt w1 (B) Tepefidia 1
(C) sEHfvmE = (D) uTSets =i
17. Bangkok is the capital city of
(A) South Korea (B) Philippines
(C) Indonesia (D) Thailand
18. Y@ {9 GG (UAE) 1 Y@< 71N 5 2
(A) =+ B) feam
(©) fowzm (D) oG
18. Y@ YA HifwfEs (UAE) @it F 10 2
(A) T B) ==
(C) fomzm (D) TIepet
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18. ST 31 IrRraf U @rafsm o ?

(A) z& (B) fetm
(C) fedm (D) e
18. G 3N A (UAE) HI g g 2
(A) &9 (B) fem
(C) fegm (D) sfishet
18. What is the currency of United Arab Emirates (UAE) ?
(A) Ruble (B) Dinar
(C) Dirham (D) Shekel

19. T 92 F991 TGS TG (TG SAES ?

(A) T ST FERRE (B) i i @925
(C) TR I “i%eq (D) TosC e el
19. T i 909 Ny TR (TG S ?
(A) TOFF 4R FERRE (B) eile 43R @RG
(C) TN &= A%6q (D) fozsrs 3 i
19, 3 SR g T AR A (@) 31 7
(A) TG TR HicTATER (B) e 3R STRETE
(C) HfTendT SR Y= (D) fespre 3T gmrsit
19. Tord @ TR o s H AR &g fa @ 2
(A) TR R ST (B) Tia 3R IREE
(C) i i e D) fesms 3 dmmsh
19. Between which two towns is the Naranarayan Setu situated ?
(A) Tezpur and Kaliabor (B) Nagaon and Jorhat
(C) Jogighopa and Pancharatna (D) Dibrugarh and Dhemaji

20. RN IS GRS &7 FIe SNifee 2

(&) vErE iR (B) Ticams Brez
(C) <™ Pz (D) 7~ ez
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20. IR AT 9 STl & ==y ?

Q) I FIRR (B) Tiers 12
(C) AP Pz (D) 7@ Pz
20. RN TSTRICR I e TS HHH ?
() =5 g (B) Siriwer fiig
(C) wucr &g (D) I g
20. 3TTEIY HTHTSH 1 STH TSI i o7 ?
(A) gehid g (B) SirweR férg
(C) wHerRR fiig (D) wi fog
20. Who was the last king of the Ahom Kingdom ?
(A) Chandrakanta Singha (B) Jogeswar Singha
(C) Kamaleswar Singha (D) Purandar Singha

21. (IG5 (AT I (7 2T dieNa! SifeeT ?

(A) efeters (B) el

(C) TwarRA (D) ey
21. ISACEG HR @F GO &ife @] R ?

(A) TwCfeenre (B) JIC!

(C) TEAEE (D) 2y
21. G I=R 3T 5« BT SI0T MRS AIDEH ?

(&) =sictvg (B) el

(C) 3oEs (D) swivg
21. WA =R g gaEE] of

(&) sicte (B) el

(C) oA (D) swie
21. Margaret Thatcher was a former Prime Minister of

(A) New Zealand (B) Canada

(C) Israel (D) England
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22. I ST SEER AT STl 202 :
(A) IS e (B) WRR e
(C) T & (D) =% e
22. MR G2 SRIRIF A STl i e 2 ;
(A) S T (B) WfR &eie
(C) IS «fe (D) ~IF e
22, EF IR FATEHIH TSI AR ¢ IT& (Body of water) @ A1 g1 ffersmn 7
(A) o™ IE% (Canal) (B) SfGTEI-gITE (Strait)
(C) gus 9% (Canal) (D) U BI-YSTTel (Strait)
22, ®H 3N AT & o9 I Fhm 2
(A) AT (B) ST SrergEsht
(ORE=EE (D) T TATASH
22. The body of water between Russia and Alaska is
(A) Panama Canal (B) Bering Strait
(C) Suez Canal (D) Palk Strait
23.  TANAI TR 07 =TS SPTE JE! (i C2fee ?
(A) e epiv Sferal (B) << 5% Pz
(C) RN @iy (D) ToET™ Tl
23. TAlIFTII IMCH @3 SRS SPIGIR JTa] (F foeer 2
() =Tl @pim ool (B) *@e b% Pz
(C) famga fy (D) Tl ==l
23. MUY st IATaAT GR SrrEmty fife afr see 2
(A)  TomeT s <feter (B) Id 95 f&a
(C) foroorm afey (D) Tl ST
23. THATY SXEet o QA S1¢ 3TEH o TEIHAT i o ?
(A) o ware = feran (B) wd =g foig
(C) oo afey (D) Tl ST
23. Who was the Chief Minister of Assam immediately after Gopinath Bardoloi ?
(A) Bimala Prasad Chaliha (B) Sarat Chandra Singha
(C) Bishnuram Medhi (D) Golap Borbora
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24, PR e BT TRIRMER @ 513 e (2fee ?

(A) @Rzl (B) a2l
(©) Frema D) fe=re
24. SPIE 22w e TR (i efefe 2afee ?
A) @« (B) @
(C) P D) e
24. mEm et arawrmEet wremEemr (Medical College) @t SI8T MRHFHR SGHM 7
(A) VIREe (B) TETETd
(©) Frerr (D) fegme
24, 37U % TES HIShet hicts hl TATHHT hal gs off ?
(A) WINER (B) TaTET
(©) foen (D) fesme
24. Where was the first medical college of Assam established ?
(A) Jorhat (B) Guwahati
(C) Silchar (D) Dibrugarh

25. TS (S o8 Toe (e Foas! 2

(A) TN (B) TN

(C) FH™EM (D) o™
25. T30 (e 2 e gl sicerel 1 frebes 2

(A) SFAN (B) =iy

(C) TI™RM (D) g™
25. TER o€ SRATRT MeH feeefi Ba g ?

(A) TeI™ (B) Af<um

(C) Toreheuae (D) 9dsTg
25. Fr=forfga o @ =i a1 wum 78 fooett & fehe 2 2

(A) TeI™ (B) e

(C) foeheurare (D) ©=eTE
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25. Which of the following places is adjacent to New Delhi ?
(A) Gurugram (B) Nandigram
(C) Secunderabad (D) Dhanbad
26. RIS (FR o7 7fEpel SRR STgse ?
(&) Tl B) ferfe
(C) Dreafem (D) FcEIfeAl
26. fI0H Tral A omifh 7ed SIEDIcs wie ?
(A) TR (B) dferfex
(C) oPmifel D) IcEfA
26. TERM 99 FEIAT WieTl JMHRHEE § 7
(A) GTferEn (B) «forfermm
(C) T (D) whartean
26. Frforfaa & @ = @1 < gferor smfeR H 8 2
(A) FrmTferEn (B) Srefife=n
(C) aerEn (D) e
26. Which of the following countries is in South America ?
(A) Somalia (B) Bolivia
(C) Tasmania (D) Cambodia
27. SIS FTO! TR P! SACHITTS Feirerol IFq] 48 (2feeT ?
(A)  SPIREN! SCwlee (B) SRS ool ACHIeT
(C) ool fcarz (D) SIS SR
27. SRCSA FiTo! TRA (@ SCHIEAE FIpeTo] IR *(27 2R ?
(A) PN (B) “© Ryl
() iR fear (D) 2 S
27. RGN IS ATER AR § AHTEHRARITE Shelohetdl ST $HTH SR ?
(A) THNTEEI (B) WA ATTRAR
(C) Toure femmrrr (D) 3RA ATy

[E]:[m
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27. WA % TAAAT TG § fohdl STRIeH H heherd] saTl WTRIE g% off ?
(A) 3T (B) wid BIS!
(C) fourel farsre (D) wfema ares
27. In which movement during India’s struggle for independence was Kanaklata
Barua martyred ?
(A) Non-Cooperation (B) Quit India
(C) Sepoy Mutiny (D) Civil Disobedience
28. foraferre (i< 523 oR-Siee SRS 727 ?
(A) TRATETF (B) waRR
©) TR D) wfta
28. 1 Seafor T (P SINtes MWl *=e 7 ?
(A) IR (B) waR
(C) T2 (D) Tl
28. TERIE BT WRAM el HEL3T o1l 0 7 2
&) =rgE (B) ==
(C) =i (D) HH
28, Treferfiga & & 6 wia =1 wyg fopT b1 wET T B 2
(&) SR (B) ==
©) w=g (D) =it
28. Which of the following is not a sea-side city of India ?
(A) Bengaluru (B) Chennai
(C) Mumbai (D) Cochin
29. fferire iy e g WiRAL et (NHAT) § FC8s! 5o 1<) (=12 fra =7 2
(A) GFET=e
(B) T Fmm Gl
(C) TITE IR s =
(D) efoTrl FI &S A2
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29. I SER® (@M TEERRAT GEW TeT &fffead (NHAL 99 TP wF (A0S
SRyRfoE ?
(A) U™
(B) TGRS BRI
(C)  @Stel MaIfTFTR Ffars Az
(D) efsTl TR e T
29. TERTE B S8 FUUTEHT NHAI GRiT ied b WM g S ?
(&) T
(B) ugiferm dht
(C) T8 ARTRIR (Senior Citizens) f maf werwmeh
(D) T@TT e ME AU
29. fr=ferfiad o & fopg ot 1 NHAT BT e 8 & ITH & ?
(&) T
(B) ugiferm Eht
(C) afg Tmient & fstt arga
(D) T it o fsht are
29. Which of the following vehicles is exempted from NHAI Fastag Tolls ?
(A) Ambulance
(B) Petroleum Tanker
(C) Private vehicles of Senior citizens

(D) Personal vehicle of Defence personnel

30. SPTHT 2I=CH! SNYFTF qoe A QARG A OIS SES ?

@) o= ®) D

©) el D) e
30. SIPTICY &N SIferp Toree el REHR SH_ES oM ;

) Al (B) @izl

©) Tosr (D) =iis
30. smamf ffafem wiem g T 7w, o e snwwd ¢

(A) TETERd (B) @R

(C) R D) e
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30. 3T9H 1 UgAT 1Yeh uet amn e fda 7 -
(&) TEEEAE (B) e i
(C) g H (D) e
30. The first modern theatre hall of Assam, the ‘Baan Theatre’ is located in
(A) Guwahati (B) dJorhat
(C) Tezpur (D) Nagaon
31, THMICH! TS ATl SRS 81 (BleTfoms Sepiv SIS Fiifeet 2
(4) 1991 (B) 1985
(C) 1980 (D) 1982
31. SRCS (A I gl Al (Gethexe Riw e Heafee 2
(A4) 1991 (B) 1985
(C) 1980 (D) 1982
31. ol HISATISTE QUG HT HIAR SeAlfersT T’ Tl HRAHATE BIHTESAGHA 7
(A) 1991 (B) 1985
(C) 1980 (D) 1982
31. QM A WA H Tl Sefiforsi hishd forg oy # & fora 2
(A4) 1991 (B) 1985
(C) 1980 (D) 1982
31. In which year did Doordarshan start colour television programme in India ?
(A) 1991 (B) 1985
(C) 1980 (D) 1982
32. TAIRR CH{eliq enafie Sesime a5 2
(A) R (B) ETIES TR Q@I *
(C) TEel (D) &5y
32. TR &fOBICTa &l Mua i 2
A) fw= (B) &SRR MR
©) g (D) ¥4
SLRC-2022/P-I/D 23 g%? P.T.O.



32. @1ET (Boeing) HHAMIM Tfe fegremasm @ ¢
(&) FriesT (B) Hfrsm smeR
(C) I (D) Hfea
32. SIS U1 T TTATH ITG R 8 ?
(A) e SR (B) AT % I
(C) ~[a (D) @&
32. What is the primary product of Boeing company ?
(A) Aircrafts (B) Breakfast cereals
(C) Shoes (D) Medicines
33. S TR TRIFMHLE i Sifee ?
(A)  FEI BheEl (B) & vlArSiR
(C) A=l (D) I siifE
33. T SIS @2 TP forcaieeet ?
(A) B Bhesl (B) R ”TSE
(C) T =t (D) B ot
33. STEHUSAE GraaTE Ffafe WRaT g g3 a1 ?
(A) e FEdn (B) foshm grwTe
(C) Troher vl (D) Z e
33. AN § FHaTel 98l WA i 9 ?
(A) o FEe (B) foshm wmwTe
(C) Teh3T 3|1 D) b fE
33. Who was the first Indian to go to space ?
(A) Kalpana Chawla (B) Vikram Sarabhai
(C) Rakesh Sharma (D) Yuri Gagarin
34. P eGP AU TS SES ?
(&) =gt (B) @32l
(C) I8 (D) =
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34. I TF MREZT (IR LS ?

&) wrek (B) w2
(C) wits (D) Al

34. 3TE BRI Wl Wﬁ\?{ (Assam State Museum) AT E&IE ?
(A) W (B) TETE
(C) g (D) =IER

34. HH U HUETeR el fEdd & ?
(A) mrgett (B) TaTETe
(C) Tt (D) iEq

34. Where is the Assam State Museum located ?
(A) Majuli (B) Guwahati
(C) Nagaon (D) Kohora

35. TofeTIs Je1q (FIR SRR SPTE TFRGG N3l 2B (oS & #1re ez ?

A) PR e (B) @ g Il
(C) 9T (ol (D) rersl (Ve
35. 0 SERoma T (& SPIR 981 AR e ST8EE 2R ?
Q) R e (B) XS & I
(C) 9T ¢l (D) s (el
35. RS BFRIM TR ERE e AfRmueat me Remsmm Jgmr ?
(A) IS TSI (B) I Hool 9837
(C) WUl (D) 31T =T
35. Trferfiaa @ i 3rEw & FafEd Sioe @t & 2
(A) Y ST (B) 1 Hoel Sl
(C) Ty (D) 3T 437
35. Who amongst the following is a newly inducted Cabinet Minister of Assam ?
(A) Pizush Hazarika (B) Jayanta Malla Baruah
(C) Ranoj Pegu (D) Ajanta Neog
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36. TICER Sievd 87 IS 2l &/l 5 Jfet & [ 2
@A) wIeRE B) iffrerre
(C) R (D) RreER
36. IS AR (IR G 1 211 R -
(A) SETERR (B) iRz
(C) T (D) RreE=
36. HHER fFHERE ST JARGRE! 91 8 ?
A) snfeErm (B) IfHaE
(C) whitee (D) =fearE
36. & Ui 1 WM aTel g3 W FEd & —
(A) snfeErm (B) HIfHaRE
(C) Ffea (D)  &feara
36. Animals that feed on green plants are known as
(A) Omnivorous (B) Carnivorous
(C) Cannibals (D) Herbivorous
37. OROR MRYMT (PFY SPIOIe TEI-7[7 SOS “[Rq & GSor S A FRY
*[eTq E] 91 (=R ?
(A) TV P (B) i< P!
(C) i Sl (D) =< Spol
37. ORISR MR IR TS T+ ©RTes ARG ¢ oSl Seeter T FeFro
MR A 2Fe 41 2@fRe ?
A) TP (B) e Sepib!
(C) BT SpIol (D) TR SpIb!
37. WRATR GiOaH S6 BT T-HES1 9RAW 81 A gRed -8 BT Tg gaisH
farerifae @mfs g 7
A) wifag (B) @i
(C) @i (D) @7
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BT, WA O ) S S g A S 3T e A S e 2o e
EORICLICRERIRIC N
(A) B SR (B) it et
(C) el ST (D) el g
37. Which schedule of the Indian Constitution has made provisions for
autonomous administration for hills and tribal regions of North East India ?
(A) Sixth Schedule (B) Fifth Schedule
(C) Eighth Schedule (D) Ninth Schedule
38. SIS T BIGATS oTaeT:Ie (P! A= 712 ?
A) TR (B) TERAILF BT
(C) TFeE (D) =it
38. ferCH SRS (I =<tf SIS LT @I TR 2
Q) RS (B) srreifgs
(©) ™9 D) SHrersifEs
38. TEMM ¢ HIGE3T HRATR ATl T SIeT=me = 9 ?
(A) <R 3G (B) g G
©) u™ (D) FESRETRETR
38. T=fcTRad & § =i 1 376q WA o Hia9™ i F&Te1 4 78 & ?
(A)  gHfE (B) rehdieh
(C) @ (D) HuTwET
38. Which of the following words does not appear in the preamble of the
Constitution of India ?
(A) Secular (B) Democratic
(C) Federal (D) Socialist
39. JWIRE O FIF JPRS 7[91 2THI T=0R :
(A) Iz e (B) e e
(C) TR foeEy (D) IS BEEw

(=] =]
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39. ESFHICeTR U Rl #R TR 2 -

(A) Iz “Tmlo (B) e omfe
(C) FIRR ~mhs (D) IS “afS
39. TG WE T g SETEH BIART GRIG! AT g1 ?
(A) UESH @If (B) AT | Al @I
(C) U@ @t (D) Ya @iy
39. FMMI % EH-YeH T T Wl (51 % o1 SHIR) 61 el ST @ -
(A) UTSSH JUTTAT (B) fafm yomeft
(C) ifehm gorreft (D) T Wt

39. The ancient tradition of exchanging goods for goods (trade without currency)
1S :
(A) Paik System (B) Barter System
(C) Banking System (D) Rayat System

40. “TE-IG-H” FNT &S AWTh AGREICS (@i Areye AR 59 27 2

A) gk (B) I
© fr=m (D) Sl

40. RS 4wy “Te I TR ARETS @I A0S 2R 1 27 2
A) g (B) ez
(€) fzm (D) e

40. ST ST 981G “SE S1id 01 G SUHET 56 Tg11 3716 qiEl ?
(A) ST (B) Tw&H
(C) fomr (D) 3ifewn

40. g WISH “greT S1el T AR W fohe T | qiiE St | 7
(A) wE (B) TsRrM
(©) femm (D) it

40. The famous dish “Dal Baati Churma” is typically served in the state of :
(A) Punjab (B) Rajasthan
(C) Bihar (D) Odisha
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41, 74 230 ~[feTs GHICTI 4o (@RI TETS SAFES ?

(A) =P (B) THERR
(C) S=elibeT 2™ (D) %7
41. Teed oo TR (T TSy ST ?
(A) ST (B) THIEW
(C) FelibeT el (D) @
41. H-ARTR Yferd TS o« et AE g 7
(A) EH (B) TETerd
(C) 3FeuTr=rel Tl (D) =R
41, T gferd rehTeH! fope Tsa 4 fe@ 2 2
(A) Em (B) TETed
(C) ITuT=et W (D) g
41. Which state is the North Eastern Police Academy located in ?
(A) Assam (B) Meghalaya
(C) Arunachal Pradesh (D) Manipur

42. FITHF SAGCE R Q@ TiR9F SRR Fe 4o NG S SES |

(A) sl (B) =R
(C) DlAfRel (D) IRED
42, JIIOTR SPTRCEI 3R &re] ST Kpler MR @i s1iEs ?
(A) S (B) @R
(C) TR D) i

42. THa-fsym@em™@ (Counter-Insurgency) 3R UMD el gl (Jungle Warfare)
BT 31 A o« SR g 7

(A) 3T (B) meis
(C) s (D) Fry
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42. T @ Counter-Insurgency and Jungle Warfare School %&l W ferd g 7
(&) IESTe (B) e
(C) wfsu (D) ¥R

42. Counter-Insurgency and Jungle Warfare School is located in Mizoram at

(A) Aizawl (B) Lunglel
(C) Serchhip (D) Vairengte

43. GG JFFE W “BIF T 4o KT T, (S0F (S8 (FITLe (751G SR ?

(A) A B) “AfFzE
(C) FEIfGal (D) JRETIT
43. M ARG IM GIF MR ETHm T ©@ G2 T Gl e =Niees ?
(A) T B) AifFI
(C) eI (D) - I
43. Sfc O™ Y3 TR’ AE O o WGl 3T6AT o YT §6 G SAEF 7
(A) 9T (B) drferea™
(C) wheitfean (D) iveres
43. fe 1S SAfh “Crep” § e a1, di el fraeu i 2 7
(A) Ut (B) UIfhE
(C) wrafgan (D) ST
43. If a person is transacting in “Taka”, which country the person is in ?
(A) Nepal (B) Pakistan
(C) Cambodia (D) Bangladesh

44. TI ¢ed oiRoe 32 3 71 3@ F@?

&) TR (B) e

(C) Sraliferzs D) aif
44. TN 7 RIS A @R 138 981 0 2

@) T (B) T

(C) Salifersia D) =i
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44. XA S5HRgS SR f& ComeeTn gTeiH gam 1 ?

(A) ¥ (B) wfeah!
(C) THMIEH (D) &4
44, ¥ o TTQ i 1 T8 ST FAfas cu HH |1 R ?
@) & (B) Hfah
(C) AT (D) &4
44. Which country is the biggest exporter of asafoetida (hing) to India ?
(A) Spain (B) Mexico
(C) Afghanistan (D) Russia

45, ST L AT ARG (GoletiRe (202 “oIUr & FG)” ?

@) o (B) = G IS
(C) qr&E (D) T
45.  “RIBACHE SRCSA (I ey “aT ST I G2 GG JI=IT 0 2
(A) 5 (B) o @R IO
(C) dr&E (D) et
45. TEffcaRTIR arE™ wRaf 99 TgSI ST 31 S CTed 3H S ?
(A) e (B) = 31T e
(C) TN (D) HTAT
45. “MEd 3 HIE” TRA & Forg T o T Y STeATgT 8 2
(A) wlew (B) W 37 i
(C) TSI (D)
45. “God’s Own Country” is the tagline for tourism of which state of India ?
(A) Karnataka (B) Jammu and Kashmir
(C) Rajasthan (D) Kerala
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46, ST ATHA BIITT B ACATSS QoITIF! T Sifee ?
A) eI (B) THued
(C) THBY GRS (D) f=pre
46. ST T4 BITF Bl TSI Tl e 2
A) SO (B) Tuaed
(C) Tmey (T (D) fmpre
46. AT foRfR =mUE 311 99 TSSwREH AfREE v
(A) I (B) HHsT
(C) =5 A (D) forgam
46. AT % TGP AT fohd TSI o LER A Tt 9 ?
(A) 3T (B) ®HH
(C) == HH (D) feorgam
46. Chanakya, the author of Arthashastra was a minister in the court of :
(A) Ashoka (B) Samudragupta
(C) Chandragupta Maurya (D) Bindusara
47, RIS G SR SeGIR T2W- K- (oo qIerg FIeTe ©IFe el FMRe ?
A TifEEE (B) fRSwE=-bi
(C) SITEI-Tf oAl (D) 2 el
47. @ SERerE T @ T2 [ QR Ahmsiel cfREes Rend eiie @5
PR ?
A) - (B) =S
(ORRCICARGRIE (D) 2 gl
47. YT o4 qicehi- GATSH THTE TR HEHITET WRA 376 SraeT™ HamH ?
(A) SR (B) & w&m
(C) arent g (D) s
47. T=fafea § ¥ ®F qewig o7 qeish o IEH ® R 9Rd S IE1 S 9l T
31 AT ?
(A) ®RIH (B) =AM
(C) aTh! gl 7T (D) 3 S
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47. Who amongst the following was an explorer to visit India during the reign of
Muhammad bin Tughlaq ?

(A) Fahien (B) Hieun Tsang
(C) Vasco da Gama (D) Ibn Battuta

48. RILAIB IV TELY (ol 5132

(A) TR NSNS g Tyl (B) e A Swgie

(C) v FER Ty (D) TIES I T
48. (R efeifien B “llex A :

(A) T2 S AGR Tyl (B) Fifaie A8 Tmie

(C) <RI G Sy (D) “FES AT i
48. EE IAR @i 5@ qHT ?

(A)  HIAFA AFI FIGRN T (B) IS BRI SFTH

(C) HTHEwT BIGNIN STH (D) Tehish BTERIR ST
48. TS ek U] ThEH IR AT R ?

(A) HEIA ATHSIS TE A (B) i U e

(C) HTHEH UEH 3T (D) hish THH I

48. The animal Sangai is found in
(A) Keibul Lamjao National Park (B) Kaziranga National Park
(C) Namdapha National Park (D) Nokrek National Park

49. I[THEFR TR AE I 2HBF AW 27 41 & SFIF 18 Teiers, 22561 616 @i
S AT TS Fifee ?

A) “flf @ 4 (B) WA AR
(C) et et (D) TIfEs &t
49. I AT YN LGB (@ S SHF AW “If© 2261 577 IR ?
(A) T R =4 (B) WA AR
(C) T TSt (D) TIES GBIy

LI 0]
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49. wifeeTen g tEfuft TeEES g 9R geEt fegeeft (Whitley) ST Tt 9 3T&hR
TS g STe| A 2
(A) gt &l sm (B) Sfted R
(C) fergarem T (D) ufea <terd

49. T TSI Wik hHY I % TN b o =grgeett gapr, @ i areet & &0 & off S
ST @, fere Sfar 2
(A) ot <t s (B) ed qr
(C) ferearer Tam (D) Ufea =terdt

49. Who won the Whitley Award, also known as the Green Oscar for the efforts
in protecting the Greater Adjutant Stork ?
(A) Purnima Devi Barman (B) Jadav Payeng

(C) Birubala Rabha (D) Rohit Choudhury

50. e SR Sz (e SfEF 25 I TS R T (2% |

(A) w21 () (B) R 25
(C) = 18 (D) wFO=RT 23
50. eI Sfpla ST (Tfers SR ROTE (i 1= S8 @it 2 2
(A) 419121 (a) (B) <125
(C) 118 (D) 4= 23
50. o @I e FAidmsH SRATs@! TicHT HFTs Tl SEHTE SIal ?
(A) @I 21 (a) (B) @125
(C) = 18 (D) @123
50. HifcTeh ST % &9 | e o1 ATURR o dga AT=iia fepan i o |
(A) 3T=E 21(a) (B) 3g=e 25
(C) =5 18 (D) =T 23
50. The Right to Education Act as a Fundamental Right was enacted under
(A) Article 21 (a) (B) Article 25
(C) Article 18 (D) Article 23
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51. 1926 HTS ZI%w 31 SPTE FK&N JFES 44T [0 0202 :
(A) P @ETS quos @3 NG
B) W TR @R AT
(C) =PI &l M (@3
(D) =S A& R
51. 1926 T SPICH &2 @ ORI FRI0 2o 20fee
(A) =P PI-SAIETS G0 FRF FIRNGS
B) @RI i FTRGe
(C) =PI &isfiel [ 71k
(D) =T sl kT
51. 3. 1926 HISYT 3719 TR TR 3 fifafam sowatit sofi gaman ¢
(A) FEM HI-HATRed Wag oo feafies (B) < Tiierdl seb fafiies
(C) 31 urHiur forehTa Sk (D) RgHY Tiefera sieh
51. 1926 1 Tifua 3109 1 gell fsft S S ATR ?
(A) 3TEH Hi- TR ey s faafies (B) T TEEL d foifade
(C) 7= urivr farhrd ek (D) <RgH e s
51. The first private bank of Assam set up in the year 1926 was
(A) Assam Co-operative Apex Bank Limited
(B) The Gauhati Bank Limited

(C) Assam Gramin Vikash Bank
(D) Lakhimi Gaonlia Bank

52. NITI SIS 2T (GHRCI S T 2

Q) SoT YE! (B) oI fexa
(C) SReF fers @& e+fa (D) SRS s2aa!
52. I SRR TSRS “It7 (F SRZI T 2
(A) SIFCST &LwE! (B) SiHces f[rewal
(C) SRCSH K&l IR e (D) ST 29!
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52. NITI RN ATREANT G- =T ?

(A) WRAH e "7 (B) et T3 7fy
(C) TR, it S 37 3fean (D) R TG Af
52. fifd 3T % 3reet 1 Ug foheh U TEaT & ?
(A) YR o JeEE (B) wrd % o weft
(C) YT TioTdl sieh o T (D) ¥R % g HAt
52. Who holds the position of the Chairman of NITI Aayog ?
(A) Prime Minister of India (B) Finance Minister of India

(C) Governor, Reserve Bank of India (D) Home Minister of India

53. T ST 2T P! A2 SF T T3 (il ?

(A) JECSIR I (B) T S[geT BleT™ e
(C) o. Sr&Cal=iRIBSt (D) R.o4. S

53. A SRCS (F 22 R ¢ o el W& feeem 2
(A) TETTOIR AT (B) T S&1 T S
(C) . ATt (D) .39, S

53. ity yraf fifafem e s =m #frn @ieae 7
(A) TeAUNTE U (B) Ui 3Tt el 3G
(C) 4. TIMITATIT (D) fe.3mR. M

53. TEAF YA o Ugct T 3R =A™ T i o 2
(A) TEATHHTS TS (B) HITHT 3G HelTd TG
(C) . T (D) fa.31R. =R

53. Who is the first Law and Justice Minister of Independent India ?
(A) Vallabhbhai Patel (B) Maulana Abul Kalam Azad
(C) C. Rajagopalachari (D) B.R. Ambedkar

54. T IR0 R O SR 90 B0, (12 7344 ol 1=

(A)  ~IIRFE I Sraliferz (B) e« o oS
(C) SIS F F=om™ (D) TS HF EAT

LI 0]
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54. TR AR @ 0 (TR NC T 163 SRz ?

(A) B G SR (B) I8 @3 oo
(C) SiF® qRI (D) SIS R IR
54. ‘TS @HET Gt srgra e |
(A) TIRREIM TR TR (B) IR 3TRI WRA
(C) W 3T s (D) WA A ST
54. Tex@ o &g fawrford =i smdt 2 |
(A)  ITfREAH TR TR (B) diferta™ 3T 9Ra
(C) W 3T =t (D) WA 3R S
54. The Durand Line forms the dividing border between
(A) Pakistan and Afghanistan (B) Pakistan and India

(C) India and Burma (Myanmar) (D) India and Bangladesh
55. ©ITo© (B! 61 A IR SIS RMIeR F53e1 GHICHID (11 2%, (12 I5ICHI (2t

A) TS (B) TS
(C) Tt e (D) =9I GRe
55. SRS SR 8%l 6301 &S] 6 ARRIt Sy (4er 2 :
A) O (B) IS
(©) T Gf (D) =i Gk
55. W 3719 FRYSTR TSR -HRrEfel Fead gattest ae bt omam forn 7
(A) gE*H (B) gl b1
(C) fTaefa gt (D) 3 2T
55. YN T TP $eX-Thel Boaiel gAHe ferdeh fodl @ Jrar ® 7
&) geH (B) HI Fa
(C) Taefa gibt (D) 3T g
55. The National Inter-School football tournament in India is played for
(A) Durand Cup (B) Subroto Cup
(C) Duleep Trophy (D) Irani Trophy
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56. oIS TP (FIFG! 0 Wl ferel (il 112 ?

(A) AFGFFR : AR (B) < - oo
(C) @b FRE: Ay (D) 1 FaE ;2=

56. Tt SraRrowm e (B (B B TR 7 2
A) TG : & (B) < - o
(C) 9o : Ay (D) fere’Feraa oW

56. TR 6 31 U TRISATSE 16 787 ?
(A) TEEIERaT: ¢ (B) TSR : TR
(C) TeHIERT : 91 (D) foenfer : &

56. Treferfiga o & e o1 3w o) gafea & 2 2
(&) TSR I (B) STETER : qarfer
(C) weHifer : a1y (D) - fereifepar - 3

56. Which of the following pairs is NOT correctly matched ?
(A) Hydrosphere : Water (B) Biosphere : Environment
(C) Atmosphere : Air (D) Lithosphere : Land

57. TN RR(GS =11 96 Tarr

(&) T —
(©) w1 (D) 5rEI ==ely
57. IR B:
&) ®
(©) oo (D) TS
57. GARI__ 3 HimiET |
@) e (B) e
(©) i e -
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57. &I A 3T 2 :
(A) HEETR (B) e
(C) I=Uad (D) =T ST
57. Tsunamis are caused in the
(A) Oceans (B) Deserts
(C) High mountains (D) Deep forests
58. SIS (T 2P SlToH STl 1 B ?
(A)  efsRirey=Ts sTog (B) g Tz
(C) M 7o (D) SIRHALAZLTS 51TSF
58. SRS SlTelEd (I oMb Seprel T4l 27 2
(A)  efsRireTss sTog (B) wgwfs oz
(C) M oo (D) SIRHAAZLTS 51TSF
58. T& YGUTEE! HHATE THRAR 1Sl 7
(&) o 3T g (B) e s gargers
(C) wHeTR TGt (D) STErT SR GG
58. WA W fohH TehR < TAIhaa h1 STTEXT fohall ST & 2
(&) wfafTeres e (B) Tgdfd Srehe
(C) wudH W (D) et SArehe
58. Which form of Democracy is followed in India ?
(A) Representative Democracy (B) Presidential Democracy
(C) Parliamentary Democracy (D) Participatory Democracy
59. JIBIHS 9140 TG MeT® @IAR FIee F5e[@ i <5 [T Sl AR 2
A Twifzs (B) =@
(C) = (D) foar
59. TG % AT 91 A0 NS 2SR *F A &l IR 2
A) Tifzs (B) olfer
(C) = (D) P
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59. Fc] JYL CHTT STATCST 3TE T CHISH TS T 319 |1 G s ?
A) e (B) et
(C) u=m (D) T
59. ST H T A H e o 916 SIgA <) W b T & 1 a1 g 2
A) e (B) et
(C) u=m (D) fe=m
59. By which name is the river Brahmaputra known after it joins the river
Ganga in Bangladesh ?
(A) Lohit (B) Hooghly
(C) Padma (D) Siang
60. o1 LA 9 77 S AGH g @I 5123 (R [@es @1
(A) TRA (B) Tl
(C) ifeIe D) ==
60. SIRE RGN (TP 73 G3R “IfRow e “IfIie) 1 Q@ (I ZICTR (I 737 29 2
(A) OEERN (B) Twel
(C) ifeIe (D) erFsl
60. TR gIfeMT (Prime Meridian) Fem Sefg sman ge@ sammim gesn-giFme fensta
S I T AT A
(A)  HATHH (B) herg
(C) wfemTHF (D) UfEcige
60. STem e W 7 i afee 1 S AT T Fore T o e ol ) wE D -
(A) I (B) =8
(C) e (D) ™
60. The angular distance of any place from the Prime Meridian measured
towards East and West is called
(A) Latitude (B) Altitude
(C) Longitude (D) Amplitude
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61. Xl I_N 5% I e IS I 6,000 4 T @ | I (98 AR O TR 4
SR T PTal® 77, (0 ARy il e Af=ie 2R -
(A) 6,300 (B) ¥6,030
(C) 6,250 (D) % 6,025
61. WAE IET 5% 1 O =AW X 6,000 BRPl 4 T | M G 4P o[@ 7o)¢f
eI “IfRCY FRCS BRI O OIS P Bl iTe =(F ?
(A) 6,300 (B) ¥6,030
(C) 6,250 (D) ¥6,025
61. TEISISN FERN 5% &R T 6,000 TR Y79 BN AR | g foi g o e
miE! g@ = forren e, ol g uf fosm sna& ?
(A) % 6,300 (B) 6,030
(C) 6,250 (D) %6,025
61. TS 3 5% Jfd o8 <Al e H HIURW &I W 6,000 3TN fTT | 37 98 Tk e & 37d d
ol TR T YA S BT HHAT AT 7, A 37 fohat TN 6T YA HEAT T 7
(A) 6,300 (B) ¥6,030
(C) 6,250 M) %6,025
61. Manoj borrowed a sum of ¥ 6,000 on simple interest at the rate of 5% per
annum. If he decides to pay the entire amount at the end of one month, then
the amount he needs to pay is :
(A) 6,300 (B) ¥6,030
(C) 6,250 (D) % 6,025
62. IMa>b, (a>0,b>0) =, =3 e @G e e ?
(A) —a<-b B) —a>-Db
(C) a<-=b D) —a>b
SPACE FOR ROUGH WORK
SLRC-2022/P-I/D 41 g%? P.T.O.



62. IMia>b, (a>0,b>0) 2 FE @RS GG 7T ?
(A) —a<-b (B) —a>-b
(C) a<-b D) —a>b
62. dfca>Dh, (a>0,b > 0) MM Fa WL A ?
(A) —a<-b (B) —a>-b
(C) a<-b D) —a>b
62. Ica>b,(a>0,b>0) AT TTHAIAT TR ?
(A) —a<-Db B) —a>-b
(C) a<-b D) —a>b
62. Ifa>Db, (a>0,b>0), then which one of the following is true ?
(A) —a<-Db B) —a>-b
(C) a<-b D) —a>b
63. —[-{— (1) (—1}] — [ {= (1) (—1)}] T foyefer a1 |
A -2 B) -1
©€) 1 D) 2
63. i foyefi s :
—FEED D = =D (S
A -2 B) -1
© 1 D) 2
63. — [ {= (D) (=D} — [~ {= (1) (—1)}] F =M ST 2
A -2 B) -1
©€) 1 D) 2
SPACE FOR ROUGH WORK
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63. —[—{—(-1) (~D}] — [~ = (=1) (—1)}] T HH T L |
A -2 B) -1
©) 1 D) 2
63. Find the value of
—[+ED) (D - D (SD
A -2 B) -1
©) 1 D) 2
64. @bl “Iefa =01 Fide FEE 1, 1, 2, 2, 4, 4 bfize IR (71 =itz | 2IIeBn @[
2T I 2 o e/ Eits iR Teife! 2w :
@ 3 ®) 3
© = ®) 5
64. O 2T =0 4 TANFWE 1, 1, 2, 2, 4, 4 e 541 Wiz | o @i ot 2
AT SR TSI -
@ 3 ® 3
© 2 ®) %
64. TR TFHM e W@AE B 1, 1, 2, 2, 4, 4 ToFE™ 2 | S3u@ Qo8 TR 2 THT
HIGT AR SRS R e :
@ 3 ®) 3
© = ®) 5
SPACE FOR ROUGH WORK
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64. T U & 6 HoToh] WHAS: 1, 1, 2, 2, 4, 4 3AThd & | T i Teh SR hehd T 2’ HW AW
&6 ITReRdT 2

(A) (B)

Wi N
D= o

©)

64. A Die is marked with 1, 1, 2, 2, 4, 4 respectively on its six faces. The
probability that ‘2’ will face up on a single throw of the Die is :

D)

A)

(B)

©) D)

Wi N
D= o

(ab?)? x (3 ab)*

@ 9 ® 1
© 3 ®) 5

(ab?)? x (3 ab)*

65. Ia=b«IRa=3, W 9 x 9aby? I
@A 9 B) 1
1 1
© 3 D) o
_ . (ab?)? x (3 ab)* :
65. ﬂ'ﬁa—bma—& 9X9(32b2)3 ﬁﬁa-[mm?
@ 9 B) 1
1 1
© 3 D) 4
SPACE FOR ROUGH WORK
=
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B B (ab?)? x (3 ab)*

A) 9 (B)

© 3 D)

b22>< 3 b4
(agzg(agb%;),) ,whena=banda=31s

Ol—=

65. The value of

A) 9 (B)

© 3 D)

Ol—=

66. IM~/1296 = x2, TS(F x I T] :

@A) 5 (B) 6

© 7 D) 8
66. TM[1296 = 2% T (F x 4 T 2 :

A 5 (B) 6

© 7 D) 8
66. Sfc~[1296 = x2, x o= 3T ?

@A) 5 B)

© 7 D) 8
66. JIfc~/1296 = x2, T x T A 8T :

@A) 5 B) 6

< 7 D) 8
66. If~/1296 = x2, then the value of x will be :

A 5 (B) 6

© 7 D) 8

SPACE FOR ROUGH WORK
[®]: ]
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67.

67.

67.

67.

67.

RiETS @I @3 AN T 800 € T BT S ANAG! Gemeq [ Blacet AT #1res
s{feiel FRIFTma 20% 7 99 =7 | TNaRe RKifeey tae -

(A) %1300 (B) 1200

(C) ¥1100 (D) %1000

fafere q=fs ANAT 800 BiwT eon @9 e Kaw Joe fefere 20% =ire (qed [ v
e | Ao e o 2= -

(A) %1300 (B) %1200

(C) 1100 (D) %1000

fafSr 3 @@ gamet 3 800 31 SR I 5 S SR S8 BHE{BAT ST iy
WHRETRT ST BHAR S 20% SR | S G SR S8q1 59 2

(A) %1300 (B) 1200

(C) 1100 (D) %1000

fafSta 3 e a%g =1 T 800 o TligT 31K 39 I%] ! 39 TR o1 foh W 3Th forshl Jod i
20% B | g T fIsha Ge 2

(A) %1300 (B) %1200

(C) %1100 (D) % 1000

Bijit purchased an article for ¥ 800 and sold the article such that the gain is
the 20% of its selling price. The selling price of the article is :

(A) %1300 (B) % 1200
(C) 1100 (D) %1000

4 1 ,
68. ?ﬁ‘rg +(—%)=x+ 15 2, (9% x-S A 23 2
A 2 B) 1
€ -1 D) -2
SPACE FOR ROUGH WORK
LI 0]
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4 3 1
68. ?rﬁ‘rg + (——j =x+ 1§§§IWxﬂ?TWW§@?

10

A 2 B) 1

© -1 D) -2
68. —g’f\a% + (—%j =x+ 1%,3Wxﬁﬂﬂ3ﬂmﬂ'ﬂ'ﬁ? ?

A 2 B) 1

© -1 D) -2
68. dfe % +(‘%j:x+ 1%,?ﬁx?ﬂm:rwgﬁm?

@) 2 B) 1

© -1 D) -2
68. If % + (—%) =x+ 1% , then what will be the value of x ?

@A) 2 B 1

) -1 D) -2

69. 7 (.1, IPIGE 9B e ARPINE T 5! I5Cwq 500 IR IR T4 2 |

oA CHQUOIR ARF (S14 T : (4 @[, n = 272)

A 7M. (B) 117.f.

(C) 15 (D) 227.f.
69. 7 cm PR GFH Jred “If1E a1 G0 391 9low 71 2971 | 915 @ T

22

@ n="7)

A 7@ (B) 11 & f.

(©) 15 @ f. (D) 22 @A

SPACE FOR ROUGH WORK
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69.

69.

69.

7 .M. @EE T AHE SEA SEH gREN 7MY Sl AEE | § i AT
ARG g ? (n = %w)

A) 79 (B) 11a.f.

(C) 159.f. (D) 229.fu.

7 ot s et U g 1 uiifer < ovaTs 1 SWI Uk & o o fore foRn ST @ | ot
6T ST H TR S ¢ (n =2_72F\i 1)

(A) 7 (B) 113

(C) 15%H (D) 22 &

The circumferential length of a circle of radius 7 cm is used to construct a

22
square. The length of the side of the square is : (Take n = 7.)

(A) 7cm (B) 11lem
(C) 15cm D) 22cm

70.

70.

THICAT 951 FRI o178, I &1.97.3. FAFE 25 Wik 2573 | Ffi FRYGH @1 27 27 |
(ST ! 7R Z] :

(A) 2373 (B) 2572

(C) 2273 (D) 2372

T2(B ARG 91378 @R .37, TeH 25 3% 25 - 73 | A q2fB ey @G ARyl 27 =W O
SERIEE

A) 2373 (B) 2572
(C) 2273 (D) 2372
SPACE FOR ROUGH WORK

[
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70. WA IFRGETH Q.38 (HCF) 3/ g.37.41. (LCM) 31 %Iid S 25 31/ 2573 | o
A SR TS G 27 ST, 3T g HAHsT 17 7
Ay 2373 (B) 2572
(C) 2273 (D) 2372
70. < GEaii % HCF 3t LCM shwsr: 25 3R 257° 2 | afe < sensii # 9 us wen 27 8,
(A) 2373 (B) 2572
(C) 2273 (D) 2372
70. The HCF and LCM of two numbers are 25 and 2°73 respectively. If one of the
two numbers is 27, then the other number is
(A) 2373 (B) 2572
(C) 2273 (D) 2372
71. 7,12,5,1,4,2,1,12,17, 16, 1, 5, 8 XRETHR ST (202
A 7 B) 4
(C) 8 D) 5
71. RIS
7,12,5,1,4,2,1,12,17,16, 1, 5, 8
GEIRIVN
@A 7 B) 4
© 8 D) 5
71. TERTE BT B Tof At fogd 2
7,12,5,1,4,2,1,12,17,16,1,5, 8
@A 7 B) 4
© 8 D) 5
SPACE FOR ROUGH WORK
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71. q@A17,12,5,1,4,2,1,12, 17,16, 1,5, 8HTATEA R :
@ 7 (B) 4
(C) 8 D) 5
71. The mean of the data series
7,12,5,1,4,2,1,12, 17, 16, 1, 5, 8
@A 7 B) 4
© 8 D) 5
72.  0.003 + ? = 0.3 FAFIENGR 2HEIES ©5F (2) F afezif*re Fa1 MR 2=
(A) 0.01 B) 1.0
(C) 0.0001 (D) 0.001
72. AP 0.003 + ? = 0.3 9 SRS 2@ (?) B2ba 2 @Al o -
(A) 0.01 (B) 1.0
(C) 0.0001 (D) 0.001
72. TR TS 39 AR ST BRAFUT FoE 41 SAfSHTs STl g ?

0.003+7=0.3

(A) 0.01 (B) 1.0
(C) 0.0001 (D) 0.001
72. TR 0.003 =+ ? = 0.3 T T¥aTEeh 8 (?) ol ATaeATiud i aTel! S T @ ;
4) 0.01 B) 1.0
(C) 0.0001 (D) 0.001
72. The number that replaces the question mark (?) in the equation 0.003 + ? = 0.3,
is :
(A) 0.01 (B) 1.0
(C) 0.0001 (D) 0.001
SPACE FOR ROUGH WORK
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73. 0.5 f.f. QT Foe@ T @4 @IS A9 ofw I 1.28 B.M. WFRT <6t fegs a1l
TR = 23 | GBS PTG Tl P Sled A4 T2
(A) 12 (B) 10
(C) 8 D) 7
73. 0.5 mm 7F GF0 FICEH *R IAAR IS F(F 1.28 cm TCF G5 FF 7 F1 27 |
SR SIS TR -
(A) 12 (B) 10
) 8 D) 7
73. 0.5 T . T 11 ™ e feeTsEt Tl el ST 1.28 6., SR T 31 gEt 3T
QAR STG1 | TTGET 3T WTATH] @ad S T ?
(A) 12 (B) 10
) 8 D) 7
73. 0.5 fr.ft. <t HierE & ST Sl T Iie I TR-TR [IST ST 8 dlfeh 3R 1.28 Tfi & Th
Be 1 U e st aes | feterdl 6 srewes qen 2
(A) 12 (B) 10
) 8 D) 7
73. A sheet of paper of thickness of 0.5 mm 1is repeatedly folded to fill up a gap of
size 1.28 cm. The required number of folds is :
(A) 12 (B) 10
C) 8 D) 7
74. < SRS CFAS A9 15 .M. = It 150 6.50.2 | 3% (9 799 Iacd ESGR I
1% ofCeT e 91 =, (ST STSCHI gl “IfT1 2'7
(A) 50 @.K. B) 60 G.f.
(C) 70 @.;[. (D) 80 .1.
SPACE FOR ROUGH WORK
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74. 3 AFTSCHFEI ¥ 15 cm IF CFAFE 150 cm? | I SATSCRALI (9] IS F@
IR SifeT @i EPge (& 1% 29 1S 91 =Y I Mg AR 203
(A) 50 cm (B) 60 cm
(€) 70 cm (D) 80 cm

74. URE JEAH @emEA 15 4.4, 3 9 gemsten 150 @.M.)2 | Jfe o aeuse
SR A csmsr T3 cemefiigs 15 T AW, e WEteET s d
LRI CEIRE IIE
A) 505 (B) 609.f.
(C) 709, (D) 804.fu.

74. T ARA <l TR 15 Tt I &A% 150 91 THY B | IS SA%BeA ol hael IHeh! TS
ST A SR h 1%gmaaﬁmm,aﬁmtrﬁm@m :
(A) 505 (B) 60 &
(C) 70 (D) 80 aw

74. A rectangle has 15 cm as its length and 150 cm? as its area. If the area is
increased to 15 times the original area by increasing its length only, the new
perimeter will be
(A) 50 cm (B) 60cm
(€) 70 cm (D) 80cm

75.  [TfoTie STy2a (FICh! (2rR 92517 M 12 — x — 2 F GBI T ?
@A) (x-4) B) (x+5)
© (-2 D) (x+4)

SPACE FOR ROUGH WORK
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75. ffee @ 729m 9 22 — x — 2 9T TAF ?

A x-4) B) «x+5)
©) x-2) D) (x+4)
75. TERTH 637 42 — x — 2 Toememer afof amemefi (factor) ?
A x-4) B) (x+5)
©) x-2) D) (x+4)

75. freferfed o @ 959G 42 — x — 2 1 T UHES HH A1 8 ?

@A) x-4) (B) (x+5)
©€) x-2) D) (x+4)
75. Which of the following is a factor of the polynomial x2 —x —2 ?
@A) x-4) (B) (x+5)
©€) x-2) D) (x+49)

76. T 2 6.1, /<51 (@57 99 o1 et AR O FoAd o1 3 [6.[. /96l (@9 2te Tehe
w2 | S2-T2 A 2fFce M ($67 5 T TR AW 2, (S08 (987 19 7[l
T T8 (AR :

A 4M (B) 5f.f
(C) 6fFf D) 7M.

76. TS O 99 (0P O il elfis 617 2 6.1, woor 710 A1 @< eifis 961 3 6.1
Tool % R =) | A @2 A S5 F00 ©F 5 961 A sl O AHE
RGIEE R CE R R

A) 4. (B) 5 ...
(C) 6fs.f. D) 7.
SPACE FOR ROUGH WORK
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76. TS99 o TR weEfattm 2 fefaaer 7 el S (Speed) wtEl I
3 fop.fuamerfa mafy S e | o Ife T gEEmEEREE 5 uwr aren, faf
BT 7 T 98 Mo 7
A) 4 fs.fa (B) 5 f.fa.

(C) 6T=.fa. (D) 7Th.F.

76. TS 3794 TR T 2 fepri/eer Y e & 3799 forammera Sran & 3t 3 fepdi/erer ot ifa & eftear 8 |
Ife a8 T AT H 5 6 a1 &, A I8eh Toramerd 3R Iqh Wh A hi gl @ -

(A) 4 feret (B) 5 fertft
(C) 6Tt (D) 7 fertht

76. Rajen goes to his school from his house at a speed of 2 km/hour and returns
at a speed of 3 km/hour. If he takes 5 hours in the entire journey, the
distance between his school and his house is :

(A) 4km (B) 5km
(€) 6km (D) 7km

77. @51 99 P I TR 96 T5.14.2 | qpChIe e 29 ;
A 81wm.fM3 (B) 27 w.[.3
(C) 36w.f.3 (D) 64 T.[.3

77. G TICHCET TG Do 96 T2 | T{Cwa bod Toedd
(A) 8173 (B) 271.f.3
(C) 363 (D) 64 C1.f.3

77. T8 o 3 fergami wifer 3 wmer 96 (3.f4.)2 | S amAf WS 31 S8eT e 2
(A) 814.fa.3 (B) 279.fw.3
(C) 3e6@.fa3 (D) 643.fu.3

SPACE FOR ROUGH WORK
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77. T O 1 el EI &Ahel 96 HHIZ R | T 1 TG 3

(A) 81%HP (B) 27 43
(C) 36w (D) 64 3fs
77. The total surface area of a cube is 96 cm?. The volume of the cube is :
(A) 81cm? B) 27 cm?
(C) 36 cm? (D) 64 cm?

78. [IEfeIre ©aig M= (I SBIRSCS TleT ?

11 12 13 14
12°13°14° 15
14 13
A) 715 ® 11
12 11
© 713 D) 15
78. TR SaAlHBRR T30 @0 326 ?
11 12 13 14
12°13°14° 15
14 13
A 15 ® 11
12 11
© 13 D) 15
78. TEHE SFMFEGRH TSe g6 SIE@d QeI e ?
11 12 13 14
12°13°14° 15
14 13
A) 15 (B) 14
12 11
©) 13 D) 12
SPACE FOR ROUGH WORK
=5 [m
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78. ffafgada s o imageg w2 ?
11 12 13 14
12°13°14° 15
14 13
@A) 715 B 14
12 11
©) 13 D) 12
78. Which of the following fractions is the largest ?
11 12 13 14
12°13°14° 15
14 13
A) 15 (B) 14
12 11
© 13 D) 75
79. 1.5 (A I >t “fquiel 7.5 &INF A 2] 2
(A) 0.25% B) 0.3%
(C) 0.5% (D) 0.75%
79. 1.5 (FfE T *SIN 7.5 &AM ?
(A) 0.25% (B) 0.3%
(C) 0.5% D) 0.75%
79. 1.5 .f50. 19 S8 Skl 311 7.5 9@ S 7
(A) 0.25% (B) 0.3%
(C) 0.5% D) 0.75%
79. 1.5 forctl o1 foraT Ufawa 7.5 7\ & 2
(A) 0.25% B) 0.3%
(C) 0.5% D) 0.75%
79. What percentage of 1.5 kg i1s 7.5 gm ?
(A) 0.25% (B) 0.3%
©C) 0.5% (D) 0.75%
SPACE FOR ROUGH WORK
i
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80. zri%%zg 1, (S Zafggawm
@A) 5 (B) 3
© 2 D) 1
80. Tt = ew s 6at2 cqam
A 5 (B) 3
© 2 D) 1
80. gf\a%—%, ZZ+§Eﬁ 311 3 7
A 5 (B) 3
©€) 2 D) 1
80. Jfe %:%,?ﬁ % HAAER :
A 5 (B) 3
©€) 2 D) 1
80. If %Zg,then the value of ﬁis :
@A) 5 (B) 3
© 2 D) 1
81. INW sfiwasa wferl fegsi qsfiphoq Tizena Wfbw Bter @I-sf Fcz | 2ol Gizem
T O 10 .M. | ATl A 2.4 B, 1= [owt 1.6 . | I e @[l bizem
T TR
(A) 184 (B) 244
(C) 284 (D) 384
SPACE FOR ROUGH WORK
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81.

81.

81.

81.

T O AR @ 99{Pi Bifel @il SeRire FEce AR Fe1 | 2TSBb Hifer 2T
10 TLIEL | AmEEiG 2.4 . T4 @32 @9 &% 1.6 . | 3w Tl Gifers efcre 2

(A) 184 (B) 244

(C) 284 (D) 384

e 31 Tty rEm T A gEE w1 asad (Tiles) BH1 ARTRET | ThHE dgad
AEATRST 10 1M, | fi@m " 7731 2.4 . Mo W 1.6 1. @R | fomi Tew aged
T 7

(A) 184 (B) 244

(C) 284 (D) 384

e 3ot TE &% ®3 DI FBR TFAl T T3 B <hl ASHT ST 8T 8 | T T8 <hl AT
10 T B | T 2.4 Y. &l 31K 1.6 1. =<t 7 | T =1 fopat ergeti it Stragerehar gt ?
(A) 184 (B) 244

(C) 284 (D) 384

Ravi plans to tile his kitchen floor with square tiles. Each of the tiles has side

of 10 cm. The kitchen is 2.4 m long and 1.6 m wide. How many tiles will Ravi
need ?

(A) 184 (B) 244
(C) 284 (D) 384

82.

& T2 % 2,000 RIS G4 14 & S0 | AN (08 *RIFMFE 20% SF 10% S
VG (T2I2 AS F(F, (STF (08 “RLITH! T FE Jpariey 5l AR Fiafeet ?

(A) 1,440 (B) 1,400

(C) %1,540 (D) % 1,500
82. 4T NG T 2,000 BIF! forlr® JeaTiat GfG #A141 9 ¢ | T GT IAEFE 20% 9% 10% =Y

SR O IR &) Ot 5 BIpl AN B0 = ?

(A) 1,440 (B) 1,400

(C) 1,540 (D) 1,500

SPACE FOR ROUGH WORK
[m5m
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82. ¥ 2,000 T 58 THT T8 SIETE! 9™ g3 s/ | fom i wifd 20% 3R 10%
W HAI, AT Tl GG et s&e gl ?
(A) 1,440 (B) % 1,400
(C) %1,540 (D) T 1,500
82. T 3meH) 3wk ymn wier fomeht gga Hma T 2,000 oAt | 3R W 20% W 10% H
AR &1 e et 2, 1 387 e o for feraa sy fepan 2
(A) 1,440 (B) 1,400
(C) 1,540 (D) % 1,500
82. A man purchased a fan which had a printed price of T 2,000. If he received
two successive discounts of 20% and 10%, then how much did he pay for the
fan ?
(A) 1,440 (B) % 1,400
(C) T1,540 (D) 1,500
83. TICI 5! I PR SIS 2 : 3 | TGYLIT Pl SeoIT® (2(2 :
A 3:2 B) 4:9
€ 9:4 D) 2:3
83. 72 e TP TS 2 : 3 | I@ 12154 P SIS 2 -
A 3:2 B) 4:9
) 9:4 D) 2:3
83. T SEHM HRITEHR EIJATS 31T 2 : 3 AT S T goerrg i T2mg 311 S92
@A) 3:2 B) 4:9
) 9:4 D) 2:3
83. < il % FISIaTi T 1WA 2 : 32 | Il o &AWl ohT SIUT B
A) 3:2 B) 4:9
) 9:4 D) 2:3
SPACE FOR ROUGH WORK
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83. The ratio of the radii of two circles is 2 : 3. The ratio of the areas of the circles
1s :
A 3:2 B) 4:9
©C) 9:4 D) 2:3

1 1
84. ﬂﬁx+;: 437, (53 x2+? ERIDEECE

A 10 (B) 12
(C) 13 D) 14

1 1
84. ﬂﬁx+;=4§§l,Wx2+? G NI

A 10 (B) 12
(C) 13 D) 14

1 1 .
84. C:lﬁx+;=4, x2+? A am s ege ¢

A) 10 (B) 12

©) 13 D) 14
84. qﬁx+%=4,?ﬁx2+% HAA R :

A) 10 (B) 12

©) 13 D) 14

1 1
84. Ifx+ 2o 4 then the value of x? + 2 s :

@A) 10 B) 12
©) 13 D) 14
SPACE FOR ROUGH WORK
[E5E
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85. 12 (b.f. 9= e AR fag® b ifeT (2= :
(A) 12+/3w.[.2 (B) 24+/3®.[.2
(C) 30~/3.f.2 (D) 36+/3.f.2
85. i I fqgres Jed Tl 12 TN, 20 ©F e :
(A) 124/37[.2 (B) 24+/3 7.2
(C) 30+/3.f.2 (D) 36+/3T1.[.2
85. 12 9.T. @S THT THM STTETI STET-em 1 SeATs st sHem JIH ?
(A) 12+/38.fu.2 (B) 24+[3@.f.2
(C) 30+/3%.fu.2 (D) 36+/3@.f.2
85. U gHaTg I, fEeh! o1 1 &g 12 St 8, 39 B &1 &% §
(A)  12+[3 T2 (B) 24+/3 a2
(C) 30+/3 a2 (D) 36+/3 a2
85. The area of an equilateral triangle with the length of the side of 12 c¢m is
(&) 12+/3 cm? (B) 24/3 cm?
(C) 30~/3 cm? (D) 36~/3 cm?
SPACE FOR ROUGH WORK
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Q. No. 86 to 87 : Fill in the blanks with correct options :

86. A gifted scientist, Newton some of the most fundamental laws in the

history of science.

(A) keeps discovering
(B) who discovered
(C) discovered

(D) kept from discovering

87. We are all worried about the condition of the company.
(A) monetary affair (B) financial
(C) finance (D) monetary

88. Choose the correct order to complete the sentence :
I.  relationship between two or more
II. people, places or things
III. a relationship in space or time as a logical
IV. prepositions are used to show
A) ILIIL IV, 1 B) ILIV,I, III

(©) 1V, TIL 1, 11 (D) 1V, IIL 11, T

89. A group of lions is called

(A) Herd (B) Pride

(C) Pack (D) Bunch
[m5m
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Q. No. 90 to 92 : Choose the correct SYNONYM for the given word :

90. Pompous

(A) Humble (B) Simple

(C) Haughty (D) Unpretentious
91. Timid

(A) Courageous (B) Brave

(C) Coward (D) Bold
92. Virtue

(A) Vice (B) Morality

(C) Dishonesty (D) Unworthy

Q. No. 93 to 95 : Choose the correct ANTONYM for the given word :
93. Harass

(A) Irritate (B) Comfort

(C) Molest (D) Seduce
94. Gorgeous

(A) Magnificent (B) Dazzling

(C) Beautiful (D) Dull
95. Bloom

(A) Wilt (B) Revive

(C) Plant (D) Dry

SLRC-2022/P-I/D
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Q. No. 96 to 98 : Choose the correct preposition :

96. I always get nervous when I have to speak an audience.
(A) 1n the front of (B) 1in front of
(C) 1infront of (D) affront of
97. Submit your assignments ten days of the announcement.
(A) within (B) by
(C) with in (D) before
98. No student or teacher should be this famous reference book.
(A) with (B) without
(C) given (D) despite
Q. No. 99 to 100 : Choose the correct option :
99. A number of vehicles travelling together under escort for the sake of safety is
called
(A) Regiment (B) Convoy
(C) Escort (D) Cavalry
100. Love for one’s country is known as
(A) Jingoism (B) Patriotism
(C) Nationalism (D) Expatriate
[E]:[m
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101. 52 F5o o7 &we W20 Rge @Ure sia e SiEG @ik @Egd 273, o

41919 9

(1) 2 3) (4)
A Q) B) @)
© O D) ()
101. 5% S *DICP K AP @S S FACE T

FrSIE 741 T1EF ! fofzrs et 2

44121

(1) 2 (3) (4)

@A @ B) (@)
© 3 D) (4

419128

(1) 2) 3) (4)

A @ B) @)
© G D) (@)
SLRC-2022/P-I/D 65 %
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101. 59 YREIT e o fodier @ W Hiet a1 &, a fean wn fet e fomrs &, soe! veam

(1) 2) (3) (4)

A @ B (@)
© 3 D) (4)

101. Identify how the pattern

would appear when the transparent sheet is folded at the dotted line ?

1141 [s

(1) 2 (3) (4)

A @ B (@)

© 3 D) @
102. &g SIECH! 75+ HiteT e RI91 SiHCH! oaire 1 :

b

(1) (2) 3) (4)

A @ B) @)

© G (D) (4)

LI 0]
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102. &me Hafbes i T4 st fbfee wet

9

(1) 2) (3) (4)
@ @ B) (@)
© O D) ()

102. BT TEEt TS G SrEri e |

9

(1) (2) (3) (4)
@ @ B) (@)
© O D) ()

102. 38 9T <l TE=H =h{ Sl U <hl G HIcl @ :

9

(1) (2) (3) (4)
@ ® @
© @ ®) @
SLRC-2022/P-I/D 67 g%?
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102. Identify the portion that completes the pattern :

?

(1) 2) 3) (4)
@A) @ B @)
© 3 D) (4

103. 27 HePTR SR 41 o< “ 2~ B=bre 927 «[1 foaes! i< Sered |
OO
JANV-NE
|

>
) @ ®) @
© Q (D) E>

103. 5@ IRFCE SR I SR (2) 97 ARICS @ Bafb 200 & @ I |

OO0
ANV
= (>

LI 0]
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103. RS ITE! AR 30 GH™ SRARER e g @ ?

OO0
ANV NI
=> (>

w O AN
©) ﬁ (D) E>

103. T2t 3 Tg 1 3T Wt 3T T i R e T « 2 7 wrwfieenfia wom 7
OO0
AN\
= >
A) @ B) @
©) ﬁ (D) E>

103. Study the set of figures and find out the one which would replace “ ? ”

O|0|0O
ANV

D6
A) @ (B) @
©) ﬁ (D) E>

SLRC-2022/P-I/D 69 2
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104. i+ YRS e BaAch! forre 54 -

7 W vy

A B (B) D
€ A D) C
104. SE (AF fom 3t weTmi oaft bfes 794

Y7 W vy

4) B B) D
© A (D) C
104. TR JTATET AT AR |

B WY

A B B) D
© A D) C
104. ORI | 37w ot 6l vg=m o

Y WA vy

A) B (B) D
© A (D) C
104. Identify the figure different from others :

B W vy

A) B B) D
© A D) C
SLRC-2022/P-I/D 70 %



105. ‘X’ 3 fofee TR wicsie-aifsie foaw! tarz —

D

X)
(1) 2) 3) (4)
@A) @ B @)
© 3 D) (4

105. X @4t fofes Bafta weie afslie 2= :

D

X)
(1) 2) 3) (4)
@A) @ B @)
© 3 D) (4

105. X T grammits arergst 99 79EsT ?

D

X)
1) (2) (3) (4)
A (1) ® @
©) 3 O @
SLR(C-2022/P-I/D 71 gﬁ
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105. ‘X’ &9 § fafed 31mehfd i v 8 3

D

X)
(1) 2 3) (4)
@A) @ B @)
© 3 D) @)

105. The mirror image of the figure marked as X’ is :

D

X)
o OVt [0
1 (2) 3) (4)
@a @ B) @
© © D @
106. ffeTre »RfR ST Kool 91 —
AT L: 4TI
A2 : 1 R 4
I 3: TM 15 OF ¢ =W (oS “RIF 1 T &k @RI AT SR#E 2719 g 341;
S R 4 1 eI Q@
AT 4: 3T
T 5: T 18 S0P TIeT 2T (S0 2 el 41
S i 2 e TS R TYCRCT oIl Cof Afecet S weizee fo 2’9 2
@ 1 B) 18
C) 17 D) 19

SLRC-2022/P-I/D
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106. IS *Mews1etet [Remal 4 :
g1 4 IR
qa2: 1R@meF
Q3: AW 15 (A N 2SI 1 R 4IC7! 9 FTI (/ITF TS 415 Tl 4 =12 41T
Qi TS |
g4 : 3 5 F9 |
q5: 18 (A0 I8 = 2 [aal 7
2lff A 2 0 SIS I SIS ATl SePTRe FHCE KT TR B 207 2
A 11 (B) 18
(C) 17 D) 19
106. TTE STTTFBRE! TTfHT AHE —

AMM1: 4QNd

FARM2: 1qHE
a3 e 15 T gz gefea SR, A 1 31 it AR SR ST ;
ST 3T 4 1 fm g |
AMM4: 3N
M5 i 18 T gs i 9w, 2 g’
¢ TS 3T BRE FfafEm 919 2 S qrermRieet, e T 91 [ ?
@) 11 (B) 18
) 17 (D) 19
106. Tr=ifeTRaa = o feem & :

WOT1: 43|

WOT2: 1 EeH |
TOT3:  Ifc 15T HA R, A1 =IO 1 W AR 3R 96T ¥ AR T; A=IUT =0T 4 W/ 37 & |
TWOT4: 3T |

TWOT5: I 18 AUH 7, A 2 T9CH |
e IuIh TN <Rl UTei 2 o TRIeh A1 o {1 Tk ran B, ot 31faw aform o= g 2

A 11 (B) 18
©) 17 (D) 19

LI 0]
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106. Consider the following steps —
Step 1: Add 4.
Step 2: Subtract 1.

Step 3: If less than 15, jump to step 1 and continue from there ; otherwise
proceed to step 4.

Step 4: Add 3.
Step 5: If greater than 18, deduct 2.
What would be the final result if the above steps are followed with the initial

value of 2 ?
@A 11 (B) 18
© 17 D) 19

107. fafAfe (@ @R *=2 “Toe el : SRR o563 T 794 25w ¢ 2

(A) el : fergifal o fRee (B) ThHIR ; STfoTi<pall

(C) THE: (1250 = 2o (D) el : SeTze
107. WG Seale @ (Sieiib “Tea Vel : BRENERT @5 1o GPeeid F=Ee ?

(A) Forre! : ferEIEl IR (B) ToW13 : =TIl

(C) YRR : iZHew o= el (D) el : Sremze
107. e & 81 “MgH feeet! : SRR arafed M) ol ?

(A) HicTenrar : forarifen aw'fae (B) =8 : AT febeet

(C) Y=g : Ted 3% sfean (D) 3T : ATeTHEA
107. fr=fefaa o & i @ e 3 Tt et 8 S a8 fooef : smafiar” & ¢

(A) hictshrar : Taereifan aaifes (B) =S : ATI(hA]

(C) HwE : TIed 3T e (D) 3T : ATHEA

107. Which of the following pairs is related in similar way as “New Delhi :

Charminar” ?
(A) Kolkata : Victoria Memorial (B) Chennai : Red Fort
(C) Mumbai : Gateway of India (D) Agra : Taj Mahal

LI 0]
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108. PENTAGRAPH — ENTAGRAP — NTAGRA - ?

XRYSIH! SN9AGIB o=0eT SRS #1051
(A) GRAT (B) TAGR
(C) NTAG (D) AGRA

108. frferie TG FHiare S0 A8 =11 P = ?
PENTAGRAPH — ENTAGRAP — NTAGRA — ?
(A) GRAT (B) TAGR
(C) NTAG (D) AGRA
108. e IR S T UTET 391 317a 01 Fierat M ¢ 2
PENTAGRAPH — ENTAGRAP — NTAGRA — ?
(A) GRAT (B) TAGR
(C) NTAG (D) AGRA
108. ":]_'@FIT PENTAGRAPH — ENTAGRAP — NTAGRA — ?
SR W@ o o2t 377t 9/ g 2
(A) GRAT (B) TAGR
(C) NTAG (D) AGRA
108. What would be the next to continue the series :
PENTAGRAPH — ENTAGRAP — NTAGRA — ?
(A) GRAT (B) TAGR
(C) NTAG (D) AGRA

109. 7—10 — 15 — 22 — 30 — 42 — 55 SIFAGIN S&T ARG oelre 1 |
(A) 30 (B) 15
(C) 22 (D) 55
109. fafeie Fafbes s 1=l Bize w4 -
7-10-15-22—-30—42-55
(A4) 30 (B) 15
(C) 22 (D) 55
109. BIR3TE AHR MR M7 fgrere R 2
7-10-15—-22-30—42—-55
(A4) 30 (B) 15
(C) 22 (D) 55
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109. G H TeTd UG ol TE=H i |
7—-10-15-22-30-42-55
A) 30 (B) 15
© 22 (D) 55
109. Identify the incorrect term in the series :
7-10-15-22-30—-42-55
A) 30 (B) 15
(C) 22 (D) 55

110. (2, 6, 24, 60, 120, 216) *2I=ICBIS Se JIRHTH! BIre 4 |

(A) 216 (B) 120

(C) 24 D) 0
110. frafafis wwbes srym )41 fofse 74 -

(2, 6, 24, 60, 120, 216)

A) 216 (B) 120

(C) 24 M) 0
110. SIS R MR T fererergt fom 2

(2, 6, 24, 60, 120, 216)

(A) 216 (B) 120

(C) 24 M) 0
110. @ 1 TTeAd UG ohl Tg= i —

(2, 6, 24, 60, 120, 216)

(A) 216 (B) 120

© 24 D) 0
110. Identify the incorrect term in the series :

(2, 6, 24, 60, 120, 216)

@A) 216 (B) 120
© 24 D) 0
LI 0]
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111. 9GB! (S5S SREE (< IR FRYICG! ire F47 |

(A) 1331 (B) 1728

(C) 3375 D) 2788
111. =T Srwsfe =1l 263 7Y i w4 :

(A) 1331 B) 1728

(C) 3375 D) 2788
111. gTRTE 2nTe S e 2

(A) 1331 (B) 1728

(C) 3375 (D) 2788
111. 3 H&1 h! Yg=H L o 9 ¥ Heiferd T2 8F1 =R |

(A) 1331 (B) 1728

(C) 3375 D) 2788
111. Identify the number that should not belong to the group.

(A) 1331 (B) 1728

(C) 3375 D) 2788
112. I« %< S e 25! Hoie 34 |

(A) SMILES (B) SPORTS

(C) AGENDA (D) SPACES
112. S0 QA 523 =170 5o 99 :

(A) SMILES (B) SPORTS

(C) AGENDA (D) SPACES
112. TS BRAT THT dige@t TIhR ?

(A) SMILES (B) SPORTS

(C) AGENDA (D) SPACES
112. 39 oG ol TEH i Sl GOl § T 2 |

(A) SMILES (B) SPORTS

(C) AGENDA (D) SPACES
112. Identify the word that is different from others.

(A) SMILES (B) SPORTS

(C) AGENDA (D) SPACES
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113. IS (PG 0 93 Wz o0 72 ?
&) gos: R
(C) &I « e

113. 7 S @F (@ioil W =7 ?
&) T 2
(C) &lfRwl : el

113. TERN & SR I T8 ?
(&) e fafer : ggm
(C) T fafiem - e

113. fr=ferfiga § & o ar e e 78 8 2
(A) T : geeft
(C) Yufterres : goft

113. Which of the following pairs is NOT correct ?

(A) Geology : Earth
(C) Zoology : Animals

(B)
D)

(B)
D)

(B)
D)

(B)
D)

(B)
D)

TG : IR
T : T2

Rl el : IR
TEHIRe™IIE @ 21PN

IR fofem - arfafy
SR fofirm - s

BB EEIC G DR LE]
<oy : 3rafe

Meteorology : Atmosphere
Astrology : Space

114. NiTHIRT FIte F=ifFS =751 forre 47 |

A) VTS (B)
O s D)
114. SRR IR 707 7eifFe AR e 7 :
A FINFE B)
C) s (D)
114. IHTYST 1 T SiarsRgt TIRR 7
(A)  HHATAS (B)
(C) Fad (D)
114. T ¥ Gafera 316g sl T89 i :
(A) HHIRNS (B)
(C) ohes D)
114. Identify the term related to the military :
(A) Camouflage (B)
(C) Cabbage (D)

FIAS
FifbeTs

TS
TS

Carnage
Cartilage
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115. FTERARS GGH 7 IR “2f : Arzer soibha T 5101 2l#iw 3T 2
(A) RIS : A7 (B) o : @&
(C) fomel : if<p (D) <@: 70
115. 10 (&1 (SICIGTETI T (P “2feeT « TR @9 T GhZeI 54 ?
(A) o9 ©F (1) : 94 (B) o : b
(C) 1% : &b (D) &1 : G
115. TMEREM o& ST “T=: 7Yuni’” sRfed gl g ?
(A) Themie : STew B) G5 : W
(C) &MU :wd (D) & :9q
115. T3 T/ el § § forment Tay ‘594 ; Ir81” S92 ?
(A) Thame : s (B) 9T :
(C) #4:wie (D) it : e
115. Which of the given pairs has a similar relationship as “Engine : Vehicle” ?
(A) Filament : Bulb (B) Thread : Needle
(C) Cup: Plate (D) Ball: Bat
116. BREM eite A SRITS GAET &AW 4 (e W, 3 A% T, 6 C4Ie W, 2 e

116.

116.

15, 10 TS T IIF SRS 2 S I | SA[GA! ZIe ATITF (08 Gfieq) F© 127 02
= ?

A) 3 @S STe B) 1 ®E STo
(C) 9T ETS D) 3 (IS TS

T frc =T T feaieemr 4 415t 11T, 3 #0191 ©0o, 6 4191 =N, 2 4191 B, 10 419 o 9<R
2 19 T | 251 W 1 HIRGR 4IToR QoW G1 (I SR ez ?

(A) 347 % (B) 1 49T

(C) 92 (D) 3 4% N®

wen Sl ceearEREE 3 4 TREE B AW ANHE 3 @R, ATH 6
TEEAE, AN 2 CE@Rl, AMH 10 TEEEs 30 3MH 2 geear | o sm
SRS TS Sreel Aigar faf mean e smeemet fega 2

(A) TR TSt (B) SANTHE TSt

(C) @ SR g (D) 3TTH T TERTE

LI 0]
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116.

Teh WGl © e A0 999 TS 4 hed 1=, 3 el I, 6 el H9, 2 THed HHR, 10 Hed
I AR 2 Hew F19 TAd1 & | Tal & 36 IE [hAT AT 39 YEIAT hed o arad H 98 31§
FE TS 8 ?

(A) 3 heHJIW (B) 1hcHIW
(C) 3t SHTE W (D) 3%hea
116. While coming down a staircase, Jignesh walks down 4 steps, up 3 steps,
down 6 steps, up 2 steps, up 10 steps, and down 2 steps. Where is he
standing in relation to the step on which he started his exercise ?
(A) 3 steps above (B) 1 step above
(C) The same place (D) 3 steps below
117. fraffis TG 2 SRR *@re e TRSth! SRpe 341 12 ?
(A) MPRTV (B) PRTVX
(C) CEGIK (D) 0QSUW
117. T30 Searfew Se (s Sy Akl i o sreprel et ?
(A) MPRTV (B) PRTVX
(C) CEGIK (D) 0QSUW
117. TERH S AT 40 @HT S-Sl Fier ?
(A) MPRTV (B) PRTVX
(C) CEGIK (D) 0QSUW
117. FfRad § § M gEti gr1 faifa e &1 e &1 shtar @ 2
(A) MPRTV (B) PRTVX
(C) CEGIK (D) 0QSUW
117. Which of the following does not follow a rule set by others ?
(A) MPRTV (B) PRTVX
(C) CEGIK (D) 0QSUW

118.

Mo f2RIT TS Bo1ife 12 7 TSR T @ — “Of2 @ FTCOR GFIg 7[@9 GRS 17
IS TS AOF TFHG! F 2

@) e ®) <A
(© T D) SR
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118.

118.

118.

118.

Mo TR 0 AR FRE TG A6, “01 AN FromEd 9Fg “@d 01 |7 el
TG 0 PISICT 7o 2

VR (B) @

(©) =i (D) <

g | TraTet USHS 71 |l ?

(A) femm (B) feammE

(C) fomre (D) ferm

TS =t e =1 it od BT T S B, “8 TR QIET % Sohalld S hl Sel @ 7 I Wit E
Y FEfea 2 ?

&) = (B) =&

(C) Wt (D) st

Introducing Geeta to Priya, Rajani says, “She is the daughter of the only son
of my grandfather”. How is Geeta related to Rajani ?

(A) Mother (B) Sister

(C) Aunt (D) Niece

119.

119.

119.

119.

119.

W 4532986 TRAIG! SEIGIT o141 ', (ST i SIRANTS 4] SRFC! (=R

A 5 B) 3

€) 2 D) 9

Tt 4532986 M Roidte e (ATF @141 A7 ©@ @ & 2+« 9@ 11
A 5 (B) 3

©) 2 D) 9

4532986 @ 3T feTlisatt 518 — SAFTSTHTRIT A TG ARTRAT ST ?

A 5 (B) 3

C) 2 D) 9

e AT 4532986 1 It fean Sw, 1 918 3o S 3o R 18 seeran 2, 98 2
A 5 B) 3

€) 2 D) 9

If the number 4532986 is reversed, the digit that does not change its position,
1s

A 5 B) 3

© 2 D) 9

LI 0]
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120. 331G} TR GiINea qeais! 3¢ FEfafrs @GR! *=re ez =g ?

(A) MAN (B) LAME
(C) NOTE (D) KILN
120. G Srars =gt s[4y (e *=is BRC&! Iefier Nt 9 190 TGS HCACR ?
(A) MAN (B) LAME
(C) NOTE (D) KILN
120. TR 56 - A 31Te TS FTEHTET [ TSRYR 3716 U Hi=e! SR 8169 € |
(A) MAN (B) LAME
(C) NOTE (D) KILN
120. Frferiad 3 & forg voe o 37T quiHTe % & God 757 HELE 2
(A) MAN (B) LAME
(C) NOTE (D) KILN

120. Which of the following words contains both of the two middlemost letters of
English alphabets ?

(A) MAN (B) LAME
(C) NOTE (D) KILN

121. 36, 34, 30, 28, 24, ...... *RIFANGIF 8! Gl 75! 72T A1 2

(A) 22,18 (B) 26,12
(C) 25,15 (D) 20,10
121. TGS : 36, 34, 30, 28, 24, ...... T (G R AR ST 2
(A) 22,18 (B) 26,12
(C) 25,15 (D) 20,10

121. e BT STURATS ST 3T THT 4377 |17 7
36, 34, 30, 28, 24, ......

(A) 22,18 B) 26, 12
(C) 25,15 (D) 20,10
121. @ 36, 34, 30, 28, 24, ...... H 3T M H g §&ATd 31T ARy ?
(A) 22,18 (B) 26, 12
(C) 25,15 (D) 20, 10
121. In the series : 36, 34, 30, 28, 24, ...... which two numbers should come next ?
(A) 22,18 (B) 26, 12
(C) 25,15 (D) 20, 10

[m5m
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122. P! *=1eh! forlie 1

(A) Egypt (B) Angola

(C) Uganda (D) Sudan
122. FIGHR =@ (A0F SIe Al *=ib e 39

(A) Egypt (B) Angola

(C) Uganda (D) Sudan
122. TMEREMH g9 T HigT e 7

(A) Egypt (B) Angola

(C) Uganda (D) Sudan
122. FrifeTReaa sregi # @ forem w1eg <At wg=m hifT

(A) Egypt (B) Angola

(C) Uganda (D) Sudan
122. Identify the odd one in the following words :

(A) Egypt (B) Angola

(C) Uganda (D) Sudan
123. A+ B9 25, AR BING |A -BI9L 23, AT BI®©% | A@ B39,

2, AT BT, F A x B 92 (22 A 251 BT | Fferfie iaes! [esE e
FE @ P @R QI ?

A) Q-N+MxP (B) P+SxN-Q
(C) P-M+N=xQ D) Q-S@P

123. A+ BERIRAZE BYIN | A-BERARAZBYI©2| A@B @R A2 B d
Tl @3 A x B @RI A 281 B @3 @ | 10 (i [Rpeih @RI @ P 2eT Q @1 S |
A) Q-N+MxP (B) P+SxN-Q
(C) P-M+N=xQ D) Q-S@P

123. A + B 4 3ifern Smem A 3 B & femn 1 A — B T aiforn e A 311 B T we |
A @ B 1 1o smemr A 3 B 7 fawr | A x B 3ifern sem A 3t B [ femmme | R
w9 498 g R P @t Q T fomm fefRmn 2
A) Q—-N+MxP (B) P+SxN-Q
(C) P-M+N=xQ D) Q-S@P
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123.

123.

A+BHIAdae A, BHI G2 |A—-BHAdd A, B9S2 | A@ BH19deig A, Bsh1
U 8 3 A x BT Adeie A, Bl o&1 & | f=feifga 0 @ & a1 fasrea e 2 76 P, Q
HIATATR ?

A Q-N+MxP B) P+SxN-Q

C) P-M+NxQ D) Q-S@P

A + B means A is the mother of B. A — B means A is the brother of B. A @ B

means A is the father of B, and A x B means A is the sister of B. Which of the
following alternatives shows that P is the maternal uncle of Q ?

(A) Q-N+MxP (B) P+SxN-Q
(C© P-M+NxQ D) Q-S@P

124.

124.

124.

124.

T OF Bz (9 ferifarets w9 5% 63 (FR  @ifee SRl wifee | e
TS (@O WiRe, 5T 7 Mo Ok PrRES 67 ¢rm | eferiier wiiey J26e
PRI 55 T R OF 0F A0 RS @12  @ifTes (53 (2 afswifarers
e o1e 31 | eferifareiibe @it wew 2 are FHfe 2

A wWizs (B) o=

(C) fFae (D) P

G3H TS efsrEifare @ifEs f[Faead @ @i fus g3k 53¢ feet oiF B9 fPree |
G fee @RI o =, 8 g e o1 ¢ PrIce it aF | @I o FiE
P e =ifew Tm, 5% G2 T N @it 2t efsrifer o &re 3@ |

(R IR elfsrifarst 7)o B ?
A) wWizs (B) I
(C) FFae (D) Pt

HE HTEehel WRAT STERARHARTE Wifgas sstgs f&m smi fefr semusme frr |
[T AT ARG ¢HIF | T <8 o1 341 fuferat sra'a | Seymwema fufesan
fertoret s’ e Ryes o FHTEAT SeeT) WHTET Hifga@! SRE'HT SERARFRE <EE! B4 |
ST AT AT TSR ARG BISTST G377 97 2

(A) Hifed (B) Twm

(C) Tertom D) fifs

Teh TT3fohet 2l § fortor ot Sies i B Aifed die & 31T =et T&T o7 | [T 3Afam T ww oft
fer o Tm a1 TUht & 31 fashet 8 | sRadt e w, fshi foror @ S 31 fepet St
7, 99 W Hifgd & 317 el Rt 19 Sfid At 2 | are 3ifom fopem gl 6 2

(A) Hifed (B) Twm

(C) foptmr (D) T

LI 0]
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124.

In a bicycle race Mohit was leading the race with Kiran just behind. Reshma
was at the last position, but after some time overtakes Pinky. At the last
bend, Pinky overtakes Kiran, exactly when Reshma overtakes Mohit to win
the race. Who completed the race last ?

(A) Mohit (B) Reshma

(C) Kiran (D) Pinky

125.

125.

125.

0% TS GBI 0 Y T 0% PIes bl 3G FAET eme *RYENGS D! 4
R ?

64D53413BD684U64AM154E9G316KLB24054

A 5 B) 2

© o D) 3

o creal wftres @b = 4 =itz 7 5% +48 2 @36 30 )Y =2 @R B
TS B G5 BRCIG = W= ?

64D534I13BD684U64AM154E9G316KLB24054
A 5 B) 2
© o0 D) 3
TMETTE EF™ GIETE T 4 € STIBRA T S STaimT 31 3919 T g/ai g 7
64D534I13BD684U64AM154E9G316KLB24054
A 5 B) 2
© o0 D) 3

125. & TS et 1 vy fopad 4 & feh 3tk uget T T T 7 3R 3o 971G T 1Sh a7 ?

64D53413BD684U64AM154E9G316KLB24054

A) 5 B) 2
© 0 D) 3

125. How many 4’s are there in the given series which are immediately preceded
by an even number and immediately followed by a vowel ?
64D534I13BD684U64AM154E9G316KLB24054
A) 5 B) 2
) o0 D) 3
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126. IR (@G *1 G0 (IS TREe 723 ?

@A) @R (B) T@bifere wile

(C) T=e D) TqrERE
126. 0 SCARIS =R T (@l *A10 G2 (A TGS 7 ?

Q) @=w (B) T@OIfeT® (Tl

(©) wesIfe D) TrorERE
126. TERM 56 HHE AT W TTd G ?

(A) SIE (B) wetfee

(C) TR (D) 3T e
126. TfciRad # & M 91 31eg G9H Hig | Fa19d T8 & ?

(A) S (B) #iewie

(C) Tt (D) agaH
126. Which of the following words does not belong to the same group ?

(A) Ship (B) Motorboat

(C) Train (D) Aircraft

127. WIS @I *=7 6 *=RAERE TeE = 2

(A) Hanger (B) Airport

(C) Aeroplane (D) Aircraft
127, T03 Safre X< egtat 04y (I #1916 Seed (Ao feey 2

(A) Hanger (B) Airport

(C) Aeroplane (D) Aircraft
127. TR 8 HFH TG TG AR TG RHR e 7

(A) Hanger (B) Airport

(C) Aeroplane (D) Aircraft
127. ffefaa # @ o o wreg 9y wiegi 9 fom 8 2

(A) Hanger (B) Airport

(C) Aeroplane (D) Aircraft
127. Which of the following is unlike with the rest of the words ?

(A) Hanger (B) Airport

(C) Aeroplane (D) Aircraft
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128. 12,11, 13, 12, 14, 13, ?, ... RGN M@ Bz (?) bre f[5afa 2
(A) 10 (B) 16
(C) 15 (D) 13

128. TS : 12, 11, 13, 12, 14, 13, 2, ... (@ 51 eaies (2) bezd 2= o) 5903 ?
(A) 10 (B) 16
(C) 15 (D) 13

128. 12, 11, 13, 12, 14, 13, ? , SIITE HHE BRATFIT @t a1 3=t S grme ?
(A) 10 (B) 16
(C) 15 (D) 13

128. 5@a 12, 11, 13, 12, 14, 13, 2, ... H, Sear=eh {95 (?) o I T i 9 F&1 AT
g7
(A) 10 (B) 16
(C) 15 D) 13

128. Which number replaces the question mark (?) in the series : 12, 11, 13, 12,
14,13,7, ...
(A) 10 (B) 16
(C) 15 D) 13

129. I Parts S Strap *% 76! PICT RO 7R S=@mid siFe =7, (o @& FReE
Wolf *#(5! (e *Rra PTCS T9{[F© 2] 2
(A) Flow (B) Animal
(C) Wood (D) Fox

129. Parts 932 Strap *&iClfG 7MW @9 93575 T 7oifF® 237 ©J Szl T Wolf @3
S THARES W% (FID 2
(A) Flow (B) Animal
(C) Wood (D) Fox

129. Jf¢ Parts 3R Strap T IERE =T A TETT AHIGl THI, TERM o6 HigsT T@
TG Wolf S @1 M1 2
(A) Flow (B) Animal
(C) Wood (D) Fox

129. ¥fe 315¢ Parts 3T Strap rH! @i @ Hafed €, a1 6w 31sg o1 Wolf & T &9 1 Hefa

BT =TT 2
(A) Flow (B) Animal

(C) Wood (D) Fox
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129. If the words Parts and Strap are related in some ways, then which word
should be similarly related to Wolf ?

(A) Flow (B) Animal
(C) Wood (D) Fox

130. I 9T 3T PR F MILITARY & NIMIUASY 253 o741 (202 | 90! T
SEMINARY < (G(S ferfR =iifarq 2

(A) RENIOASY (B) TENIOASY
(C) TENIMASY (D) RENIMASY

130. «f5 8 A@Fe MILITARY 3 NIMIUASY @13 =¥, ©F I32I HFS IA2E
3 SEMINARY FreItd @141 24 ?
(A) RENIOASY (B) TENIOASY
(C) TENIMASY (D) RENIMASY

130. @RE 3ERT (Code) S, MILITARY @t NIMIUASY foam Siei | SEMINARY @t &
T SHRS ATs forme 2

(A) RENIOASY (B) TENIOASY
(C) TENIMASY (D) RENIMASY
130. ws fafead #ig & MILITARY & NIMIUASY for@n Sirar 8 | 36t s & SEMINARY
o1 A foram e ?
(A) RENIOASY (B) TENIOASY
(C) TENIMASY (D) RENIMASY

130. In a certain code, MILITARY is written as NIMIUASY. How will SEMINARY
be written in the same code ?

(A) RENIOASY (B) TENIOASY
(C) TENIMASY (D) RENIMASY

131. 51 =gl 739 2wl Sl il st fbae ¢yedl (e |
1 6

413 | 2|3
3@ 5’ for4t PSR 0 Reidte F1foe et sl (2
(A) 2 (B) 3
C) 4 D) 6
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131. I 93 RS YA (AR 2, O G2 Feiee] (4

] 6
4 3 o) 3
5 &3 iAo <R A 297
A 2 (B) 3
(C) 4 D) 6
131. SeAT TRY SEEE! @o TReElsdT, o fhemsa merme 89 S wRA=ET 8= |
] 6
4 3 ) 3
fafeean 5 1 Seutiify fogama o sHfsmRT 1 2
A 2 (B) 3
(C) 4 D) 6
131. S Teh & UTH 1 G S SR SITaT 2, f gions a5} fegm me Sarg
] 6
4 3 ) 3
T & 376 5 o [0 Hefeh W 3T &
A 2 (B) 3
€) 4 (D) 6
131. When the same Die 1s rolled twice, the outcome 1s as shown :
] 6
4 3 o) 3
The digit on the face opposite to 5 is
A 2 (B) 3
©) 4 D) 6

132. &g fBas (FICH! SR CFae T SS9l (il TR @9 360° P T °F ?

B

V4

D
A) B B) D
© A D) C

[LIedLl}
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132. Bafbre @i SAmHGI Sreedie IR e 360 T 4 2

A

o
V4
D
A) B B) D
© A D) C

132. & FEMN o6 @i=eral 318 AT Srememd 311 360 ferfifrgs @w ¢

o
V4
D
A) B B) D
© A D) C

132. < it 3TeBfa |, foRe 37T % Siien vl i AwT 360 faft @ m g 2

B

V4

D
A) B B) D
© A (D) C

132. In the figure, which component has the sum of the internal angles less than
360 degrees ?

A\
VA
D
A B (B) D
€ A D) C
LI 0]
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133. SIfEGre 41 &M@y 5 (2) (B 5T I8N TGI=y FIH! 52 7

?

299 5

1491 19

75 19

(A) 597 (B) 697
(C) 497 D) 579
133. TAICS M@ (?) s #IFACS TRy 741 o ioe 39

?

299 5

1491 19

75 19

(A) 597 (B) 697
(C) 497 (D) 579
133. fefRr 319 o S wiERE e e T SRS g ?

?

299 5
149} 9
75 19
37
@A) 597 (B) 697
(€) 497 (D) 579
LI 0]
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133. 39 G HE 1 52 o St fed T Yo § yyerees g (7) o1 e ot

299 5
1491 19
75 19
37
(A) 597 (B) 697
(C) 497 D) 579
133. Choose the possible number that would replace the question mark (?) in the
pattern :
?
299 5
1491 19
75 19
37
(A) 597 (B) 697
(C) 497 (D) 579

134. 2Sl, NS, 9

G NHACFRHIF TS ol (FIC! (o 52 alfsfiig g 2

©
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134. FGR @9 oo et afsfiag T @3 i<
TS, AT, A9

ey

134. e & U RN Hel, el ST, JET BIART ?

(D) @ O

134. freferfiga 5 @ s |1 o fom <greft, #ien, sme o1 gfatifre o ?

s =

134. Which of the following Venn Diagrams would represent Elephant,

Carnivorous, Tiger ?
(D) @ O
135. 92 PRI (F! o S DEPTgRels 2 ?

(A) /]\ (B) D
© ) —

LI 0]
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135. WGR @ o’ S @ feg 2

SLRC-2022/P-I/D 94
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SPACE FOR ROUGH WORK

%
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